
  

F–8902   

 

B.Com. DEGREE EXAMINATION, APRIL 2023  

First Semester 

Commerce 

ADVANCED ACCOUNTANCY – I  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is Account? 

 PnUS GßÓõÀ GßÚ? 

2. What is Ledger? 

 ÷£÷μk GßÓõÀ GßÚ? 

3. What is Error? 

 ¤øÇ GßÓõÀ GßÚ? 

4. What is Pass Book? 

 ö\À÷»mk ¦zuP® GßÓõÀ GßÚ? 

5. What is depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

6. What is Straight Line Method?  

 ÷|º÷Põmk •øÓ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is Trading Account? 

 Â¯õ£õμ PnUS GßÓõÀ GßÚ?  

8. What is Non-Trading Account? 

 Â¯õ£õμ ÷|õUP©ØÓ PnUS GßÓõÀ GßÚ? 

9. What is Average due date? 

 \μõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

10. What is Daily Balance method? 

 vÚ\› C¸¨¦ •øÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the rules of double entry system? 

  Cμmøh £vÄ •øÓ°ß ÂvPÒ ¯õøÁ? 

Or 

 (b) Pass Journal entries for the following transaction : 

2021 March  Rs. 

1 Goods purchased from Siva 15,000

5 Cash deposited into Bank 10,000

15 Cash withdraw from Bank 5,000

20 Goods sold to Rohith 5,000

25 Goods sold 10,000
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  R÷Ç öPõkUP¨£mh |hÁiUøPPÐUS SÔ¨÷£mk 
£vÄPøÍ u¸P. 

2021 ©õºa  ¹. 

1 ]ÁõÂhª¸¢x ö£õ¸mPÒ Áõ[Q¯x 15,000

5 Á[Q°À ö\¾zv¯x 10,000

15 Á[Q°hª¸¢x Gkzux  5,000

20 ÷μõQzxUS ö£õ¸mPÒ ÂØÓx 5,000

25 ö£õ¸mPÒ ÂØÓx 10,000

12. (a) Write a short notes on Error of Omission.  

  Âk¤øÇ SÔzx ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) Pass the rectification entries for following errors : 

  (i) Sale of furniture for Rs. 1,500 was credited to 
sales account 

  (ii) Goods sold to Mr. Sivam of Rs. 2,000 was 
debited to cash account 

  (iii) Purchases from Mathi Rs. 3,000 was wrongly 
passed through sales day book  

  (iv) Sales book over cast by Rs. 500. 

  RÌPõq® |hÁiUøPPÐUS ¤øÇz v¸zu¨£vÄ 
u¸P. 

  (i) AøÓP»ß ÂØÓx ¹.1,500 uÁÖu»õP 
ÂØ£øÚ PnUQÀ ÁμÄ øÁUP¨£mkÒÍx 

  (ii) ]ÁzvØS ÂØÓ ö£õ¸Ò ¹.2,000 uÁÖu»õP 
öμõUP PnUQÀ £ØÖ øÁUP¨£mkÒÍx 

  (iii) ©v°hª¸¢x öPõÒ•uÀ ö\´ux ¹. 3,000 
uÁÖu»õP ÂØ£øÚ £v÷ÁmiÀ £v¯¨£mkÒÍx 

  (iv) ÂØ£øÚ Hk ¹.500 AvP©õP Põmh¨£mkÒÍx. 
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13. (a) What are the reasons for calculation of 
depreciation? 

÷u´©õÚ® PnUQkÁuØPõÚ Põμn[PÒ ¯õøÁ? 

Or 

 (b) Am Asset is purchased for Rs. 25,000. Depreciation 
is to be provided @ 10% annually according to the 
straight-line method. Prepare the Asset account for 
the first three years.   

  J¸ ö\õzx ¹.25,000 Áõ[P¨£mhx. ÷u´©õÚ® 
÷|ºU÷Põmk •øÓ°À BskUS 10% \uÃu® 
PnUQh¨£kQÓx. ö\õzx PnUQøÚ ‰ßÖ 
BskPÐUS u¯õ›.  

14. (a) Pass necessary adjusting entries in Mr. Rao’s 
journal on 31st March 2021. 

  (i) Rs. 20,000 for wages were outstanding 

  (ii) Rs. 15,000 were received in advance as 
interest. 

  v¸. μõÆ AÁºPÎß 31 ©õºa 2021&UPõÚ \›Pmk¨ 
£vÄPøÍ u¸P. 

  (i) öPõk£h ÷Ási¯ T¼ ¹.20,000 

  (ii) •ßTmi ö£ØÓ Ámi ¹.15,000 

Or 

 (b) Write short notes on subscriptions. 

  \¢uõ SÔzx ]Ö SÔ¨¦ GÊxP. 

15. (a) What are the purpose of calculating average due 
data? 

\μõ\› uÁøn |õÒ PnUQku¾UPõÚ ÷|õUP[PÒ 
¯õøÁ? 

Or 
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 (b) On 1.6.2020, the amount due from Arul to Mahesh 
was Rs. 20,000. During the six months ended 
December, the transactions were as follows:  

2020  Rs. 

July 10 Sold goods to Arul 20,000

Aug. 8 Purchased goods from Arul 6,000

Sep. 20 Cash received from Arul 8,000

Dec. 03 Cash paid to Arul 6,000

  Prepare an account current to be rendered by 
Mahesh on 31.12.2020. Calculating interest at 12% 
p.a.  

   1.6.2020 ß £i ¹.20,000 ©÷PèUS A¸Ò öPõkUP 
÷Ási¯x. ¤ßÁ¸® 6 ©õu[PÐUS›¯ 
|hÁiUøPPÒ ¤ßÁ¸©õÖ. 

2020  ¹. 

`ø» 10 A¸ÐUS ÂØÓx 20,000

BPìk 8 A¸Îhª¸¢x Áõ[Q¯x 6,000

ö\¨h®£º 20 A¸Îhª¸¢x ö£ØÓ öuõøP 8,000

v\®£º 03 A¸ÐUS ö\¾zv¯x 6,000

  31.12.2020 US›¯ ©÷P]ß |h¨¦ PnUQøÚ 
BskUS 12 \uÃu Ámi²hß u¯õ›.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Give Journal entries  
2021 

March 
 Rs. 

1 Paid into Bank 10,000

3 Purchased goods from Siva 3,000
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2021 
March 

 Rs. 

4 Sold goods on credit to Mohan 8,500

10 Paid wages in cash 3,000

11 Cash sales 7,500

20 Cash purchases 6,000

21 Goods withdrawn for personal use 2,000

22 Cash withdrawn for personal use 1,000

23 Paid for stationery 150

25 Paid salaries by cheque 1,000

 SÔ¨÷£mk £vÄPøÍ u¸P. 

2021 
©õºa 

 ¹. 

1 Á[Q°À ö\¾zv¯x 10,000

3 ]ÁõÂhª¸¢x Áõ[Q¯ \μUS 3,000

4 ÷©õPÝUS PhßS ÂØÓ \μUS 8,500

10 T¼ öμõUP©õP ö\¾zv¯x 3,000

11 öμõUP ÂØ£øÚ 7,500

20 öμõUP öPõÒ•uÀ 6,000

21 ö\õ¢u £¯ÝUS GkzxU öPõsh \μUS 2,000

22 ö\õ¢u £¯ÝUS GkzxU öPõsh öμõUP® 1,000

23 GÊxö£õ¸ÐUS ö\¾zv¯x 150

25 \®£Í®, Põ÷\õø»PÍõP ö\¾zv¯x 1,000
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17. From the following particulars ascertain the balance that 
would appear in the cash book. Prepare a bank 
reconciliation statement.  

       Rs. 
 (a) Overdraft as per Pass Book 27,760 
 (b) Interest on overdraft  480 
 (c) Bank charges   120 
 (d) Cheques issued but not presented  4,600 
   for payment 
 (e) Cheques paid into banks but  8,680 
   not collected 
 (f)  A bills receivable discounted was 200 
   dishonored  
 ¤ßÁ¸® ÂÁμ[PøÍ öPõsk öμõUP ¦zuPzvÀ 

÷uõßÖ® C¸¨¦PøÍ Põn Á[Q \›Pmk® £mi°øÚ 
u¯õ›. 

       ¹. 

 (A) ö\À÷»miß £i Áøμ÷©À £ØÖ 27,760 

 (B) Áøμ÷©À £ØÖUPõÚ Ámi 480 

 (C) Á[Q Pmhn®   120 
 (D) Põ÷\õø» ö\¾zu¨£mk £n©õP   

 ö\¾zu£hÂÀø»   4,600  
 (E) Põ÷\õø» Á[Q°À   

ö\¾zu¨£mk £n©õUP¨£hÂÀø» 8,680 
 (F) AÁ©vUP¨£mh Ámh®  

ö\´u ö£ÖuØS›¯ ©õØÖ^mk 200  

18. A Lease of land was acquired on 1st January 2015 at a 
cost of Rs. 30,000. It was decided to depreciate at under 
the annuity method at 5% intent. Annuity tables show 
that at 5% Re. 1 over 5 years is equivalent to Re. 
0.230975 annually. Write up the lease account for 5 
years. 
1 \ÚÁ› 2015 À ¹.30,000 AhUPÂø» Eøh¯ SzuøP 
{»® ö£Ó¨£mhx. CuØPõÚ ÷u´©õÚzvøÚ Bsk 
uÁøn •øÓ°À 5 \uÃu Ámi²hß PnUQkÁuõP 
•iÄ ö\´¯¨£mhx. Bsk uÁøn •øÓ AmhÁøn 
£i ¹.1, 5 \uÃu Ámi²hß 5 BskPÎÀ ö£Ó 0.230975 
ø£\õ ÁõS® GÚU öPõsk SzuøP PnUQøÚ 5 
BskPÐUS GÊxP. 
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19. Prepare trading and profit and loss account from the 
information given below  

 Rs.  Rs. 

Opening stock 3,600 Rent (Factory) 400 

Purchases 18,260 Rent (Office) 500 

Wages 3,620 Sales Returns 300 

Closing stock 4,420 Purchase returns 900 

Sales 32,000 General expenses 900 

Carriage on 
purchases 

500 Discount to 
customers 

360 

Carriage on sales  400 Interest from bank 200 

 ¤ßÁ¸® ÂÁμ[PøÍ öPõsk Â¯õ£õμ, C»õ£ |mh 
PnUQøÚ u¯õ›. 

 ¹.  ¹. 

öuõhUP \μUQ¸¨¦ 3,600 ÁõhøP (öuõÈØ\õø») 400

öPõÒ•uÀ 18,260 ÁõhøP (A¾Á»P®) 500

T¼ 3,620 ÂØ£øÚ v¸¨£® 300

CÖv \μUQ¸¨¦ 4,420 öPõÒ•uÀ v¸¨£® 900

ÂØ£øÚ 32,000 ö£õx ö\»ÄPÒ 900

öPõÒ•u¾UPõÚ yUS 
T¼ 

500 ÁõiUøP¯õÍ¸UPõÚ 
uÒÐ£i 

360

ÂØ£øÚUPõÚ yUS T¼ 400 Á[Q Ámi 200

20. Write short notes on the followings  

 (a) Base date and 

 (b) Due date 

 ¤ßÁ¸ÁÚÁØÔØS ]Ö SÔ¨¦ GÊxP. 

 (A) Ai¨£øh |õÒ ©ØÖ® 

 (B) •vºÄ |õÒ 

—————— 
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B.Com DEGREE EXAMINATION, APRIL 2023 

First Semester 

Commerce 

BUSINESS ORGANISATION 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by Business organisation?  
ÁoP Aø©¨¦ GßÓõÀ GßÚ? 

2. Define Modern Business. 
|ÃÚ ÁoPzøu Áøμ¯ÖUPÄ®. 

3. What is Unlimited Liability? 
Áøμ¯ÖUP¨£hõu ö£õÖ¨¦ GßÓõÀ GßÚ? 

4. Define partnership. 
Tmhõsø© Áøμ¯øÓ. 

5. What is Small Scale Business? 
]Ô¯ AÍÂ»õÚ ÁoP® GßÓõÀ GßÚ? 

6. Define the size of Business firm. 
{ÖÁÚzvß AÍøÁ Áøμ¯ÖUPÄ®. 

7. Write any two Duties of Board of Directors. 
C¯USÚº SÊÂß Cμsk Phø©PøÍ²® GÊxP. 

8. Define Democratization. 

áÚ|õ¯P©¯©õUPø» Áøμ¯ÖUPÄ®. 

Sub. Code 
7BCO1C2 
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9. What is meant by a Public Enterprise? 

ö£õx {ÖÁÚzvß ö£õ¸Ò GßÓõÀ GßÚ? 

10. What do you mean by Industrial policy in India? 

C¢v¯ öuõÈÀxøÓ öPõÒøPPÒ ¯õøÁ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Describe the Qualities of Good Businessman. 

   |À» ÁoP›ß uμzvøÚ ÂÁ›UPÄ®. 

Or 

 (b) What are Strategies used for success in Modern 
Business. 

   |ÃÚ ÁoP® öÁØÔ ö£ÖÁuØS £¯ß£kzu¨£k® 
EzvPÒ ¯õøÁ? 

12. (a) Describe the various kinds of partners. 

   £À÷ÁÖ ÁøP¯õÚ TmhõÎPøÍ ÂÁ›UPÄ®. 

Or 

 (b) Difference between Joint Stock Company and  
Co-operate.  

   Tmk £[S {ÖÁÚ® ©ØÖ® TmkÓÄ \‰P® 
÷ÁÖ£kzxP. 

13. (a) What is Large Scale Business? Explain with an 
example. 

   ö£›¯ AÍÂ»õÚ ÁoP® GßÓõÀ GßÚ? 
GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) What are the factor affectively the optimum size at 
Business? 

   ÁoPzvß EP¢u AÍøÁ¨ £õvUS® PõμoPÒ 
¯õøÁ? 
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14. (a) Different between Manager and Managing Director. 
   ÷©»õÍº ©ØÖ® {ºÁõP C¯USÚ¸US Cøh°»õÚ 

÷ÁÖ£õmøh ÂÁ›. 

Or 

 (b) Describe the functions of Board of Directors. 
   C¯US|º SÊÂß £oPøÍ ÂÁ›UPÄ®. 

15. (a) Define the term Public Enterprises – Briefly. 
   ö£õx {ÖÁÚ® SÔzx ]ÖSÔ¨¦ GÊxP. 

Or 

 (b) State the problem involved in public Utilities. 
  ö£õx¨ £¯ß£õkPÎÀ EÒÍ ]UPÀPøÍ TÖP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the types of Business Organization 

ÁoP Aø©¨¤ß ÁøPPøÍ ÂÁ›UP. 

17. What are merits and demerits of Joint Stock Company? 

Tmk £[S {ÖÁÚzvß |ßø©PÒ ©ØÖ® wø©PÒ 
¯õøÁ? 

18. What are the startup problem involved in Business firm? 

ÁoP {ÖÁÚzvÀ HØ£k® öuõhUP ]UPÀPÒ ¯õøÁ? 

19. Describe the Powers and Duties of Board of Directors. 

C¯US|ºPÒ SÊÂß AvPõμ[PøÍ²® Phø©PøÍ²® 
ÂÁ›UPÄ®. 

20. State the problem involved in Public Enterprises.  

ö£õx {ÖÁÚzvÀ EÒÍ ]UPÀPÒ GßÚ? 

 
———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2023 

Second Semester 

Commerce 

ADVANCED ACCOUNTANCY — II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is accomodation bills? 

 PhÝuÂ Esi¯À GßÓõÀ GßÚ? 

2. What is meant by insolvency? 

 ö|õi¨¤ß ö£õ¸Ò GßÚ? 

3. Write short note on short sales.  

 SÖQ¯ ÂØ£øÚ £ØÔ ]Ö SÔ¨¦ GÊxP.  

4. What do you understand by replacement policy? 

 ©õØÖU öPõÒøP £ØÔ } ¦›¢x öPõshx GßÚ? 

5. Define consignment. 

 AÝ¨¥k Áøμ¯Ö. 

6. What is del credere commission? 

 öhÀQ›i Pªåß GßÓõÀ GßÚ? 

Sub. Code 
7BCO2C1 
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7. Define joint venture.  

 Cøn ÂøÚ Áøμ¯Ö. 

8. What is sale? 

 ÂØ£øÚ GßÓõÀ GßÚ? 

9. Define bills receivable. 

 ö£ÖuØS›¯ ©õØÖa^mk Áøμ¯Ö.  

10. What is cash? 

 öμõUP® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Sketch the features of bill of exchange.  

  ©õØÖa ^mkPÎß ]Ó¨¤¯À¦PøÍ öuÎÄ¨£kzxP.  

Or 

 (b) State the types of promissory notes.  

  EÖvö©õÈ ÷|õmkUPÎß ÁøPPøÍU SÔ¨¤kP.  

12. (a) A fire occurred on September 30, 2001 in the 
godown of MR. Anand. From the following figures 
ascertain the claim to be lodged.  

 Rs. 

Stock on January 1, 2001 17,000

Purchases from January 1, 2001 to date of fire 1,70,000

Wages and other manufacturing expenses 17,000

Sales from January 1, 2001 to date of fire 2,00,000

  The rate of gross profit is 25% of cost the stock 
salvaged was valued at Rs. 4,000.   
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  ö\¨h®£º 30, 2001 AßÖ v¸. BÚ¢z Gß£Á›ß 
S÷hõÛÀ w Â£zx {PÌ¢ux. Põ¨¥mk 
{ÖÁÚzvhª¸¢x ö£Ó ÷Ási¯ ÷Pm¦›ø¯ 
PnUQkP.  

 ¹. 

\μUQ¸¨¦ 1 áÚÁ›, 2001 17,000

öPõÒ•uÀ 1 áÚÁ›, 2001 w Â£zußÖ 1,70,000

T¼ ©ØÖ® EØ£zv ö\»ÄPÒ 17,000

ÂØ£øÚ áÚÁ› 1, 2001 w Â£zx |õÍßÖ 2,00,000

  AhUPÂø»°À 25% ö©õzu C»õ£ ÂQu® \μUS 
«m] ©v¨¦ ¹. 4,000 

Or 

 (b) How do you deal with ‘Abnormal items’ and 
abnormal practices in computation of claim for loss 
of stock? 

  \μUS CÇ¨¥miØPõÚ E›ø©÷Põμ¼ß PnURmiÀ 
A\õuõμn¨ ö£õ¸mPÒ ©ØÖ® A\õuõμn 
|øh•øÓPøÍ }[PÒ GÆÁõÖ øP¯õÒÃºPÒ? 

13. (a) X from Velur consigns 50 bales of cotton at Rs. 400 
per bale to his agent. ‘Y’ in Madras, ‘Y’ is entitled for 
a commission of 5% on sales plus expenses.  

  ‘Y’ sells the consignment for Rs. 28,000 incurring 
freight charges Rs. 100 and insurance Rs. 500 and 
remits the sales proceeds by a cheque. Pass journal 
entries in the books of both the parties.  

  ÷Á¿›À X 50 Põmhß PmkPøÍ J¸ Pmk ¹. 400 
Ãu® uÚx •PÁ›h® AÝ¨¥k ö\´uõº. Y 
ö\ßøÚ°À EÒÍõº. Y 5% PÈøÁ ö\»Ä ÷£õP 
ÂØ£øÚ°À Gvº£õºUQÓõº.  

  Y AÝ¨¥k ö\´uøu ¹. 28,000 ÂØ£øÚ ö\´uõº 
T¼ ¹. 100 ©ØÖ® Põ¨¥k ¹. 500 ©ØÖ® ÂØ£øÚ 
ö\»ÄPøÍ Põ÷\õø» ‰»® ö\¾zvÚõº. C¸Á›ß 
¦zuP[PÎ¾® SÔ¨÷£mk £vÄPøÍ u¸P.  

Or 
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 (b) Explain the method of maintaining accounts in the 
books of consignor and consignee.  

  AÝ¨¥k ö\´£Áº ©ØÖ® ö£Ö£Á›ß ¦zuP[PøÍ 
£μõ©›US® •øÓPøÍ ÂÁ›.  

14. (a) A and B entered into a joint venture for purchase 
and sales of some electrical items. They agreed to 
share profit and losses in the ratio of their 
respective contribution. A contribute Rs. 5,000 in 
cash and Y Rs. 6,500. The whole amount was placed 
in a joint bank account. Goods were purchased by A 
for Rs. 5,000 and expenses paid by Y Rs. 1,000. 
They also purchased goods for Rs. 7,500 through the 
joint bank account. The expenses on purchases and 
sale of the articles amounted to Rs. 3,000 (including 
those met by Y) goods costing Rs. 10,000 were sold 
for Rs. 22,500 and the balance was lost by fire.  

  Prepare joint venture account, joint bank account.  

  ªß\õμ ö£õ¸mPøÍ Áõ[Q ÂØP A ©ØÖ® B 
CønÂøÚ HØ£kzvÚº. AÁºPÒ »õ£ |mhzøu 
£[PÎ¨¦ ÂQuzvÀ ¤›UP •iÄ ö\´uÚº. 
öμõUP©õP A ¹. 5,000, Y ¹. 6,500 £[PÎzuÚº. 
AøÁ CønÁ[Q PnUQÀ ÷£õh¨£mhx. A  
¹. 5,000US öPõÒ•uÀ ©ØÖ® Y ö\»ÂØPõP  
¹. 1,000 ö\»Ä ö\´uÚº. Cøn Á[Q ‰»®  
¹. 7,500 öPõÒ•uÀ. öPõÒ•uÀ ÂØ£øÚ°À 
ö\»Ä ¹. 3,000 (Y ö\´u ö\»Ä ÷\º¢x) ¹. 10,000 
AhUPÂø»¨ ö£õ¸Ò ¹. 22,500 ØS ÂØ£øÚ 
BQ¯Ú «u•ÒÍøÁ w°À ÷\u•ØÓx GÚU öPõsk 
CønÂøÚ PnUS, Cøn Á[QU PnUS GÚz 
u¯õ›UP.   

Or 

 (b) What is joint venture? What are its main features? 

  CønÂøÚ GßÓõÀ GßÚ? CuÛß ]Ó¨¤¯À¦PÒ 
GßÚ? 
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15. (a) What are the points of distinction between a 
statement of affairs and a balance sheet? 

  {v{ø» AÔUøP ©ØÖ® C¸¨¦¨ £mi¯¾UPõÚ 
Âzv¯õ\[PÒ GßöÚßÚ? 

Or 

 (b) From the following information. Calculate the profit 
or loss earned by Mr. Vimal a small trader during 
the year 2015.  

 Rs. 

Capital as on 31.12.2015 2,66,000

Capital as on 1.1.2015 1,65,000

Drawings during 2015 1,12,000

Additional capital introduced during 2015 77,000

  ¤ßÁ¸® Â£μ[PøÍU öPõsk ]Ö öuõÈÀ 
Â¯õ£õ› v¸. Â©À 2015 Bsk »õ£ |mhzøu 
PnUQkP.  

 ¹. 

‰»uÚ® 31.12.2015À  2,66,000

‰»uÚ® 1.1.2015À 1,65,000

2015 Á¸hzvÀ Gk¨¦ 1,12,000

2015À TkuÀ ‰»uÚ® AÔ•P¨£kzu¨£mhx 77,000

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Govind draws a bill on Murugan at 3 months for  
Rs. 2,00,000. On 1.7.2018 and on acceptance, immediately 
discounts the bill at 7% p.a. and sends half the proceeds 
to Murugan. On the same date Murugan draws 4 months  
bill on Govind to Rs. 1,00,000 and remits half of the 
proceeds to Govind after discounting the bill, at  4% p.a. 
Murugan is declared as insolent on 31.8.2018 and a first 
and final dividend of 25% received on 15.10.2018. Pass 
journal entries in the books of Govind and Murugan.  
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 1.7.2018 AßÖ ¹. 2,00,000 US ÷PõÂ¢z •¸Pß «x  
3 ©õu ^mk HØ£kzv, AuøÚ HØÓÄhß 7% 
uÒÐ¨£i°À Ámh® ö\´uõº AvÀ £õvø¯ •¸PÝUS 
AÝ¨¤Úõº A÷u ÷uv°À •¸Pß ¹ 1,00,000 US 4 ©õu 
^mk u¯õº ö\´x AuøÚ ÷PõÂ¢z HØÓ ¤ß 4% uÒÐ£i 
ö\´x öuõøP°À £õvø¯ ÷PõÂ¢zUS AÝ¨¤Úõº. 
31.8.2018 À •¸Pß ö|õi¨¦ {ø» Aøh¢uõº. 
15.10.2018 À •uÀ ©ØÖ® CÖv £[PõP 25% Qøhzx. 
÷PõÂ¢z ©ØÖ® •¸Pß PnUQß •uÀSÔ¨÷£k £vÄPÒ 
u¸P.  

17. A fire occurred in the godown of a company on 20th March 
1995. All stocks are destroyed except to the extent of Rs. 
13,000. From the following figures ascertain the claim 
amount in respect of loss of stock of fire.  

 Rs. 

Stock on 1-1-1994 40,000 

Purchases during 1994 1,40,000 

Sales during 1994 2,00,000 

Stock on 31-12-94 24,000 

Purchases during 1995 upto the date of fire 1,46,000 

Sales during 1995 upto the date of fire  1,60,000 

 Stock was always valued at 80% of the cost. 

 20, ©õºa 1995 À J¸ {ÖÁÚzvß Qh[QÀ w Ã£zx 
÷|º¢ux. AøÚzx \μUS® ÷\u©øh¢ux ¹ 13,000 zøu 
uÂμ. w°ÚõÀ HØ£mh \μUQß |mhzøu ÷Pm¦›ø©ø¯ 
PnUQkP.  

 ¹. 

\μUS 1-1-1994 40,000 

öPõÒ•uÀ 1994 1,40,000 

ÂØ£øÚ  1994 2,00,000 



F–8904 

  

  7

\μUS 31-12-94 À 24,000 

öPõÒ•uÀ 1995 wÂ£zußÖ 1,46,000 

ÂØ£øÚ 1995 wÂ£zußÖ  1,60,000 

 \μUS 80%  AhUPzvÀ G¨÷£õx® PnUQh¨£kQÓx.  

18. Explain why goods are sent on consignment at ‘Invoice 
price’? What adjustments become necessary in accounts 
when goods are sent at such price?   

 AÝ¨¥miÀ ö£õ¸mPÒ Hß Chõ¨¦ Âø»°À 
AÝ¨£¨£kQÓx? AÆÁõÖ AÝ¨¦®÷£õx PnUSPÎÀ 
GßÚ \›UPmkuÀPÒ ÷uøÁ? 

19. Distinguish between joint venture and consignment.  

 AÝ¨¤miØS® CønÂøÚUS® Cøh÷¯ EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

20. From the following details find out the credit purchases 
and total purchases.  

 Rs. 

Cash purchases  29,000

Bills payable (opening) 7,500

Bills payable (closing) 2,500

Creditors (opening) 20,000

Creditors (closing) 18,000

Cash paid to creditors 25,000

Bills payable paid during the year 10,500

Purchase returns 1,500

Allowances from creditors 800

Bills payable dishonoured 300
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 ¤ßÁ¸® uPÁ¼ß£i Phß öPõÒ•uÀ ©ØÖ® ö©õzu 
öPõÒ•uø» Psk¤i. 

 ¹. 

öμõUP öPõÒ•uÀ 29,000

ö\¾zxuØUS›¯ ©õØÖa^mk (öuõhUPzvÀ) 7,500

ö\¾zxuØUS›¯ ©õØÖa^mk (CÖv°À) 2,500

PhÜ¢÷uõºPÒ (öuõhUP®) 20,000

PhÜ¢÷uõºPÒ (CÖv) 18,000

öμõUP® PhÜ¢÷uõºUS ö\¾zv¯x 25,000

ö\¾zxuØUS›¯ ©õØÖa^mkA¢uÁ¸hzvÀ 10,500

öPõÒ•uÀ v¸¨¤¯x 1,500

£iPÒ PhÜ¢÷uõº  800

ö\¾zxuØUS›¯ ©õØÖa^mk AÁ©v¨¦ 300

 

 

 
———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2023. 

Second Semester 

Commerce 

MARKETING  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is market? 

 \¢øu GßÓõÀ GßÚ? 

2. What is marketing mix? 

 \¢øu°k P»øÁ GßÓõÀ GßÚ? 

3. What is packaging? 

 Pmk©õÚ® GßÓõÀ GßÚ? 

4. What is consumer goods? 

 ~Pº÷Áõº ö£õ¸mPÒ GßÓõÀ GßÚ? 

5. What is sale? 

 ÂØ£øÚ GßÓõÀ GßÚ? 

6. What is standardisation? 

 uμ {ºn¯® GßÓõÀ GßÚ? 

7. What is price? 

 Âø» GßÓõÀ GßÚ? 

Sub. Code 
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8. What is pricing policy? 

 Âø» öPõÒøP GßÓõÀ GßÚ? 

9. What is advertisement? 

 ÂÍ®£μ® GßÓõÀ GßÚ? 

10. Who is salesman? 

 ÂØ£øÚ¯õÍº Gß£Áº ¯õº? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the importances of marketing?  

   \¢øu°ku¼ß •UQ¯zxÁ[PÒ ¯õøÁ? 

Or 

 (b) What are the needs for market segmentation? 

   \¢øu ÁøP£kzu¾UPõÚ ÷uøÁPÒ ¯õøÁ? 

12. (a) List out the uses of Branding.  

   SÔ±miß £¯ßPøÍ £mi¯¼kP. 

Or 

 (b) What are the needs new products? 

   ¦v¯ ö£õ¸mPÎß ÷uøÁPÒ ¯õøÁ? 

13. (a) What are the functions of warehousing? 

   Qh[Qß £oPÒ ¯õøÁ? 

Or 

 (b) State the types of finance for marketing.  

   \¢øu°ku¾UPõÚ {v°k ÁøPPøÍ ÂÁ›. 
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14. (a) What are objectives of pricing policy? 

   Âø»U öPõÒøP°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Put out any five methods of pricing.  

   Âø»°k •øÓ°ß H÷uÝ® I¢vøÚ u¸P. 

15. (a) What are the advantages of advertising? 

   ÂÍ®£μ® ö\´u¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) State the qualities of a successful salesman.  

   öÁØÔPμ©õÚ ÂØ£øÚ¯õÍ›ß Sn[PøÍ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the functions of marketing.  

 \¢øu°ku¼ß £oPøÍ ÂÁ›. 

17. List out the various stages of product life cycle.  

 ö£õ¸Îß ÁõÌUøP _ÇØ]°ß £À÷ÁÖ £i{ø»PøÍ 
£mi¯¼kP. 

18. Discuss the role of transportation for mordenation of 
marketing.   

\¢øu°kuø» |ÃÚ £kzu¼À ÷£õUSÁμzvß £[QøÚ 
ÂÁõv. 

19. State the factors influencing price decisions.  

 Âø» •iÄPøÍ £õvUS® PõμoPøÍ ÂÁ›. 

20. What are the modern medic used for advertising?  

 ÂÍ®£μ£kzu¼ß £¯ß£kzu¨£k® |ÃÚ FhP[PÒ 
¯õøÁ? 

———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2023 

Third Semester 

Commerce 

PRINCIPLES OF INSURANCE 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is forms of insurance? 

Põ¨¥mk ÁiÁ[PÒ GßÓõÀ GßÚ? 

2. Define the treating risk. 

B£zx ]Qaø\ Áøμ¯Ö. 

3. Define the term life Insurance 

B²Ò Põ¨¥k Áøμ¯Ö 

4. What is Investment of fund? 

•u½mk {v GßÓõÀ GßÚ? 

5. What is a financial position? 

{v {ø»PÒ GßÓõÀ GßÚ? 

6. What is report? 

AÔUøP GßÓõÀ GßÚ? 

Sub. Code 
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7. What is a Surrender Value? 

\μnøhuÀ ©v¨¦ GßÓõÀ GßÚ? 

8. What is issue of Premiums? 

•øÚ©zvß öÁÎ°kuÀ GßÓõÀ GßÚ? 

9. What is fire insurance? 

w Põ¨¥k GßÓõÀ GßÚ? 

10. What are marine policies? 

Phß öPõÒøPPÒ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the classification of risks? 
   A£õ¯[PÎß ÁøP¨£õkPÒ ¯õøÁ? 

Or 

 (b) Explain the importance of insurance. 
   Põ¨¥miß •UQ¯zxÁzøu ÂÁ›. 

12. (a) What are the fundamentals of life contract? 
   ÁõÌUøP J¨£¢uzvß Ai¨£øhPÒ ¯õøÁ? 

Or 

 (b) Explain the Principles of life insurance.  
   B²Ò Põ¨¥miß öPõÒøPPÒ ÂÁ›. 

13. (a) List out about medical examinations. 
   ©¸zxÁ £›÷\õuøÚ £ØÔ GkzxøμUP. 

Or 

 (b) Write a short note on the hazards of residence. 
   Si°¸¨¦ B£zx £ØÔ ]Ö SÔ¨¦ ÁøμP. 
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14. (a) Explain the commencement of risk. 

   B£zx E¸ÁõSÁvøÚ £ØÔ ÂÁ›. 

Or 

 (b) Write a short note on Day of grace. 

   P¸øn |õÒ £ØÔ ]Ö SÔ¨ø£ GÊx[PÒ. 

15. (a) List out about marine insurance. 

   PhÀ Põ¨¥k £ØÔ GkzxøμUP. 

Or 

 (b) Explain the nature and use of fire insurance. 

  w Põ¨¥miß ußø© ©ØÖ® £¯ß£õmøh ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Briefly Explain the types of insurance. 

 Põ¨¥mk ÁøPPøÍ ÂÁ›. 

17. What are the types of Annuity Theory of Insurance? 

 Põ¨¥mk Á¸hõ¢vμ ÷Põm£õmiß ÁøPPÒ ¯õøÁ? 

18. Explain the procedure for taking a life policy. 

J¸ ÁõÌUøP öPõÒøPø¯ Gk¨£uØPõÚ |øh•øÓø¯ 
ÂÁ›. 

19. Discuss the settlement of claim in policy conditions. 

öPõÒøP {ø»ø©PÎÀ ÷Põ›UøP wºÄ £ØÔ ÂÁõvUP. 

20. Explain the kinds of marine policies.  

PhÀ öPõÒøPPÎß ÁøPPøÍ £ØÔ ÂÁ›. 

 
———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2023 

Third Semester 

Commerce 

BANKING THEORY 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Definition of banking.   
Á[Q°¯À Áøμ¯ÖP. 

2. What is unit banking? 
AÍÄ Á[Q GßÓõÀ GßÚ? 

3. What is merchant banking? 
ÁoP Á[Q GßÓõÀ GßÚ? 

4. What do you mean by primary function? 
•ußø© £oPÒ GßÓõÀ GßÚ? 

5. What are the terms of Techniques of Credit Creation? 
öuõÈÀ ~m£ Phß E¸ÁõUP® GßÓõÀ GßÚ? 

6. What is Primary deposits? 
•ußø© øÁ¨¦ GßÓõÀ GßÚ? 

7. Define RBI. 

 RBI – Áøμ¯Ö. 

Sub. Code 
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8. What is Small Scale Industries? 

]Ô¯ AÍÂ»õÚ öuõÈÀPÒ GßÓõÀ GßÚ? 

9. What is Privatisation of banks? 

Á[QPÎß uÛ¯õº©¯® GßÓõÀ GßÚ? 

10. What are called as banking Sector reform? 

Á[Qz xøÓ°ß ^ºv¸zu® GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the types of Banking? 
   Á[Q°ß ÁøPPÒ Áøμ¯Ö. 

Or 

 (b) What are the merits of units banking? 
   A»S Á[Q°ß |ßø©PÒ ¯õøÁ? 

12. (a) Discuss the social responsibility of bankers. 
   Á[Q¯õÍºPÎß \‰P¨ ö£õÖ¨¦PÒ £ØÔ ÂÁ›. 

Or 

 (b) Explain about merchant banking.  
   ÁoP Á[Q £ØÔ ÂÁ›. 

13. (a) What are the process of credit creations? 
   Phß E¸ÁõUPzvß ö\¯À•øÓPÒ ¯õøÁ? 

Or 

 (b) Explain the importances of money market. 
   £[Sa\¢øu°ß •UQ¯zxÁ[PøÍ ÂÁ›. 

14. (a) State the functions of SBI. 

   SBI– °ß ö\¯À£õkPøÍ SÔ¨¤hÄ®. 

Or 
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 (b) What are types of Credit Control? 

   Phß Pmk¨£õkPÎß ÁøPPÒ ¯õøÁ? 

15. (a) Explain the features of banking ombudsman 
scheme? 

   Á[Q°ß J®¦mì÷©ß vmhzvß 
•UQ¯zxÁ[PøÍ ÂÁ›. 

Or 

 (b) List out the privatisation of banks. 

  Á[QPÎß uÛ¯õº©¯©õUPø» £mi¯¼k[PÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Difference between the unit banking and Branch 
banking? 

A»S Á[Q ©ØÖ® QøÍ Á[QPÐUQøh÷¯¯õÚ 
÷ÁÖ£õkPøÍ ÂÁ›? 

17. What are the primary functions of the commercial banks? 

ÁoP Á[QPÎß •ußø© ö\¯À£õkPÒ ¯õøÁ? 

18. Explain the limitations of credit creation? 

Phß E¸ÁõUS® Áμ®¦PøÍ ÂÍUS[PÒ. 

19. Discuss the functions of RBI. 

C¢v¯ ›\ºÆ Á[Q°ß £oPøÍ ÂÁõv. 

20. Explain the benefits of E-banking and financial services.  

C–Á[Q ©ØÖ® {v ÷\øÁ°ß |ßø©PøÍ ÂÁ›. 

 
———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2023. 

Third Semester 

Commerce 

BUSINESS STATISTICS  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is collection of statistics? 

 ¦ÒÎ¯¼ß ÷\P›¨¦ SÔzx AÔÁx GßÚ? 

2. What is Tabulation? 

 AmhÁøn¨£kzxuÀ GßÓõÀ GßÚ? 

3. Define Arithmetic Mean. 

 Tmka\μõ\› & Áøμ¯Ö. 

4. What is meant by mode? 

 •Pk GßÓõÀ GßÚ? 

5. Define “Correlation”. 

 “JmkÓÄ” Áøμ¯Ö. 

6. Write the two regression questions. 

 C¸ öuõhº ÷PõkPøÍ GÊxP. 

7. Define “Index Number”. 

 SÔ±mk GsPÒ Áøμ¯Ö. 

Sub. Code 
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8. Write the formula for time reversal and factor reversal 
tests.  

Põ»® ©õØÓ® ©ØÖ® TÖ ©õØÓ® ÷\õuøÚPøÍ GÊxP. 

9. What is Time Series Analysis? 

 Põ»¨ ÷£õUS £S¨£õ´Ä GßÓõÀ GßÚ? 

10. What do you mean by seasonal variation? 

 £¸ÁPõ» ©õÖuÀPÒ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between classification and tabulation of 
Data.  

   ÁøP¨£kzuÀ ©ØÖ® AmhÁøn°kuÀ Cøh÷¯ 
÷ÁÖ£kzxP. 

Or 

 (b) Explain the methods of collecting primary data.  

   •uÀ {ø» ÂÁμ[PøÍ ÷\P›US® •øÓPøÍ 
ÂÍUPÄ®. 

12. (a) Calculate the median for the following data.  

C.I. 75-85 85-95 95-105 105-115 115-125 125-135

F 8 12 27 33 25 15 

   R÷Ç öPõkUP¨£mh ÂÁμ[PÐUS Cøh{ø» ©v¨¦ 
PõsP. 

C.I. 75-85 85-95 95-105 105-115 115-125 125-135

F 8 12 27 33 25 15 

Or 
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 (b) Calculate quartile deviation from the following 

data. 

Wages 110 120 135 150 165 170 180 195

No. of workers 5 13 25 32 45 25 10 5 

   R÷Ç öPõkUP¨£mh ÂÁμ[PÐUS PõÀ©õÚ Â»UP® 

PõsP. 

T¼ 110 120 135 150 165 170 180 195

÷Áø»¯õmPÒ 5 13 25 32 45 25 10 5 

13. (a) Find Karl Pearson’s co-efficient of correlation  

Sales 25 35 45 52 20 33 40 30

Profit 20 15 10 14 23 18 22 30

   PõºÀ ¤¯º\Ûß JmkÓÄ® öPÊøÁ PõsP. 

ÂØ£øÚ 25 35 45 52 20 33 40 30

»õ£® 20 15 10 14 23 18 22 30

Or 

 (b) Find the rank correlation for the following data.  

x : 45 56 62 78 88 92

y : 58 42 36 84 96 82

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x uμ Ehß öuõhºø£ 

PõsP. 

x : 45 56 62 78 88 92

y : 58 42 36 84 96 82
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14. (a) Calculate price index number : - 

Quantity  10 15 15 20 5

Price in 2018 100 15 70 20 5

Price in 2019 120 20 60 30 7

  

   Âø»U SÔ±mk GsønU PnUQkP. 

AÍÄ 10 15 15 20 5

Âø» (2018) 100 15 70 20 5

Âø» (2019) 120 20 60 30 7

Or 

 (b) From the Chain Index Numbers given below 
prepare fixed base Index Numbers.  

Year 2015 2016 2017 2018 2019

Chain base index 20 28 30 23 35 

   RÌPõq® {ø» Ai¨£øh SÔ±möhsøn 
öPõsk \[Q¼ Ai¨£øh SÔ±möhsønU 
PõsP. 

Á¸h® 2015 2016 2017 2018 2019

\[Q¼ Ai¨£øh 
SÔ±möhs 

20 28 30 23 35 

15. (a) Calculate the trend values by the method of least 
square from the following and estimate the values 
for the year 2007. 

Year 2009 2010 2011 2012 2013

Sales 70 74 80 86 90 
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   RÌUPshÁØÔ¼¸¢x «a]Ö ÁºUP •øÓ°À ‰»® 
÷£õUS ©v¨¤øÚU PnUQkP ©ØÖ® 2007® 
BsiØPõÚ ÂØ£øÚ°øÚ ©v¨¤kP. 

Bsk 2009 2010 2011 2012 2013

ÂØ£øÚ 70 74 80 86 90 

Or 

 (b) Calculate the 4 yearly moving average for the 
following data.  

Year 2012 2013 2014 2015 2016 2017 2018 2019 

Sales 4 7 10 16 20 25 32 40 

   öPõkUP¨£mh ÂÁμ[PÎ¼¸¢x 4 BskPÐUPõÚ 
|P¸® \μõ\›ø¯U PõsP. 

BskPÒ 2012 2013 2014 2015 2016 2017 2018 2019 

ÂØ£øÚ 4 7 10 16 20 25 32 40 

 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain about the different sources of collecting 
secondary data.  

Cμshõ® {ø» ÂÁμ[PøÍ ÷\P›US® •øÓPøÍ £ØÔ 
ÂÁ›. 

17. Calculate Mean deviation and co-efficient of mean 
deviation from the following data.  

x : 0-20 20-40 40-60 60-80 80-100 100-120 120-140 140-160 

y : 4 8 10 15 20 5 9 11 

 RÌPõq® ÂÁμ[PÎ¼¸¢x \μõ\› Â»UP® ©ØÖ® 
öPÊøÁ PõsP. 

x : 0-20 20-40 40-60 60-80 80-100 100-120 120-140 140-160 

y : 4 8 10 15 20 5 9 11 
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18. Find the Rank correlation from the following data.  

Sub A 90 75 30 56 45 90 27 32 90 30 50 52 56 40 49 

Sub B 39 46 52 75 79 76 50 45 49 50 52 50 73 43 73 

 RÌPõq® ÂÁμ[PÎ¼¸¢x uμ JmkÓÄ® öPÊøÁU 
PõsP. 

£õh® A 90 75 30 56 45 90 27 32 90 30 50 52 56 40 49 

£õh® B 39 46 52 75 79 76 50 45 49 50 52 50 73 43 73 

19. Compute Fishers and Bowley’s Index numbers. 

Commodity 2012 2014 

 Quantity  Price Quantity Price

A 60 25 65 20 

B 20 40 25 45 

C 34 28 40 30 

D 45 35 48 38 

E 50 20 55 22 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÐUS L¤ìéº ©ØÖ® 
ö£Í¼°ß SÔ±mk GsønU PõsP. 

ö£õ¸Ò 2012 2014 

 AÍÄ Âø» AÍÄ Âø»

A 60 25 65 20 

B 20 40 25 45 

C 34 28 40 30 

D 45 35 48 38 

E 50 20 55 22 
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20. Calculate trend value from the following data using the 
method of least square.   

Year 2010 2011 2012 2013 2014 2015 2016

Production 
(in tonnes) 

47 64 77 88 97 109 113 

 «a]Ö ÁºUP •øÓø¯ öPõsk ÷£õUS ©v¨¤øÚ 
PnUQhÄ®. 

Á¸h® 2010 2011 2012 2013 2014 2015 2016

EØ£zv 
(hß) 

47 64 77 88 97 109 113 

 
———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2023. 
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Commerce 

ADVANCED ACCOUNTANCY – III 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Who are partners? 

 TmhõÎ Gß£Áº ¯õº? 

2. What is capital ratio? 

 •u½mk ÂQu® GßÓõÀ GßÚ? 

3. Define the term goodwill. 

 |Øö£¯º Áøμ¯Ö. 

4. What is new profit sharing ratio? 

 ¦v¯ »õ£ ÂQu® GßÓõÀ GßÚ? 

5. Who is a retiring partner? 

 TmhõÎ K´Ä ö£Ö£Áº ¯õº? 

6. What is death of partner? 

 TmhõÎ°ß ©μn® GßÓõÀ GßÚ? 

Sub. Code 
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7. What is dissolution? 

 Pø»¨¦ GßÓõÀ GßÚ? 

8. What is rule of Garner Vs Murray? 

 PõºÚº Vs •º÷μ°ß ÂvPÒ ¯õx? 

9. What is Realization Account? 

 EnºuÀ PnUQ¯À GßÓõÀ GßÚ? 

10. What do you mean by working capital? 

 |øh•øÓ ‰»uÚ® GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) ‘X’ and ‘Y’ are partners in a firm ‘X’ draws Rs. 1,500 

regularly in the middle of each month during the 

year 2020. Y draws Rs. 7,500 at the end of each half 

year. Calculate interest on their drawings at 5% p.a. 

   ‘X’ ©ØÖ® ‘Y’ C¸Á¸® J¸ {ÖÁÚzvß TmhõÎPÒ 

‘X’ 2020–® BsiÀ JÆöÁõ¸ ©õu Cøh°¾® 

öuõhº¢x ¹. 1,500 GkzxUöPõÒQÓõº. ‘Y’ JÆöÁõ¸ 

Aøμ¯õsk CÖv°¾® ¹. 7,500 

GkzxUöPõÒQÓõº. BskUS 5% Gk¨¦PÒ «uõÚ 

Ámi PnUQhÄ®. 

Or 

 (b) Explain the different kinds of partners. 

   TmhõÎPÎß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 
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12. (a) Ram and Balu share profits and losses in the ratio 
of 7 : 3. They admit Raj as a new partner. Ram 
surrendered 1/7 of his share and Balu surrendered 
1/3 of his share to Raj. Find out new ratio and 
sacrificing ratio. 

   μõ•Ä® £õ¾Ä® 7 : 3 GßÓ ÂQuzvÀ »õ£zøu 
£Qº¢x öPõÒQßÓÚº. μõäø¯ ¦v¯ TmhõÎ¯õP 
÷\ºUQßÓÚº. μõ• uß £[Q¼¸¢x 1/7 £õP•® £õ¾ 
uß £[Q¼¸¢x 1/3 £õP•® μõäUS AÎUQßÓÚº. 
¦v¯ ÂQuzøu²® v¯õP ÂQuzøu²® Psk¤i. 

Or 

 (b) Describe the procedure for admission of a partner.  

   Kº TmhõÎø¯ ÷\º¨£uØPõÚ ÁÈ•øÓPøÍ 
_¸UP©õP ÂÁ›. 

13. (a) P, Q and R are partners in the ratio of 3 : 2 : 1. The 
firm had taken out policies on the lives of partners 
as under : 

   P – Rs. 30,000 : Q – Rs. 15,000 : R – Rs. 12,000. 

   The premium in all cases are treated as expenses 
and debited to profit and loss account. On 1.7.2010 
Q died. Give journal entries. The surrender value 
was 30% of the amount of the policies. 

   P, Q ©ØÖ® R BQ÷¯õº TmhõÎPÒ, AÁºPÎß 
£[S ÂQu® 3 : 2 : 1. A¢{Ö©® TmhõÎPÐUS 
B²Ò Põ¨¦Öv ö\´x öPõkzux. 

    P – ¹. 30,000 : Q – ¹. 15,000 : R – ¹. 12,000. 

    Põ¨¦Öv Pmhnz öuõøPø¯ ö\»ÄPÍõP 
÷©ØöPõsk C»õ£ |mh PnUQÀ £ØÖ 
øÁUP¨£kQÓx. 1.7.2010–À Q CÓ¢x ÂkQÓõº. 

    SÔ¨÷£k u¸P. Põ¨¦Öv öuõøP°À 30% J¨£øhÄ 
öuõøP¯õP P¸u¨£kQÓx. 

Or 
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 (b) Explain the different methods of calculating 

goodwill. 

   |Øö£¯øμ PnUQkÁuØPõÚ •øÓPøÍ ÂÁ›. 

14. (a) Describe the procedure for settlement of partner’s 

capital accounts when the firm and all the partners 

are solvent. 

   {ÖÁÚ® ©ØÖ® AøÚzx £[SuõμºPÐ® vÁõ»õÚ 

÷£õx £[SuõμºPÎß ‰»uÚ PnUSPøÍ wºÄ 

ö\´²® |øh•øÓ°øÚ _¸UP©õP ÂÁ›.  

Or 

 (b) ‘A’, ‘B’ and ‘C’ are partners, their balance sheet as 

on 31.12.2020. 

Liabilities Rs. Assets Rs. 

Capital Accounts :  Land and Building 55,000

A 40,000 Stock in trade 20,000

B 20,000 Debtors 10,000

C 5,000 Cash in hand  15,000

Creditors 35,000  

 1,00,000  1,00,000

  They decided to dissolve partnership on the above 

date. ‘A’ agrees to take over the stock at a valuation 

of Rs. 15,000 and the debtors at a valuation of  

Rs. 7,000, the land and building is sold at  

Rs. 27,000. Prepare realisation account 
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   31.12.2020 AßÖ •iÁøh²® ‘A’, ‘B’ ©ØÖ® ‘C’ 

C¸¨¦ {ø» SÔ¨¦ R÷Ç öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ PnUS :  {»® ©ØÖ® Pmih® 55,000

A 40,000 \μUQ¸¨¦ 20,000

B 20,000 PhÚõÎPÒ 10,000

C 5,000 öμõUP øP°¸¨¦ 15,000

PhÜ¢÷uõº 35,000  

 1,00,000  1,00,000

  ÷©ØSÔ¨¤mh |õÎÀ AÁºPÒ Tmhõsø© Pø»UP 

•iöÁkzuÚº. A GßÓ TmhõÎ \μUQ¸¨ø£ ¹. 

15,000 ©v¨¤ØS® ©ØÖ® PhÚõÎPøÍ ¹. 7,000. 

©v¨¤ØS® GkUP •iöÁkzuÚº. {»® ©ØÖ® 

Pmih® ¹. 27,000 US ÂØP¨£kQÓx. wºÄ PnUS 

u¯õ›UPÄ®. 

15. (a) Elucidate the methods for distribution of cash under 

piecemeal distribution. 

   ]ØÓÍÄ Â{÷¯õPzvÀ £n Â{÷¯õP® 

ö\´ÁuØPõÚ •øÓPøÍ öuÎÄ¨£kzxP. 

Or 
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 (b) X, Y and Z share profits in the ratio 2:3:4 . They 
have decided to sell their firm to a limited company 
on June 30th 2019, their Balance Sheet on that  
date : 

Liabilities Rs. Assets Rs. 

Creditors 12,000 Machinery 30,000

Capital :  Debtors 15,000

X 20,000 Stock 13,000

Y 15,000 Cash 2,000

Z 13,000  

 60,000  60,000

  Purchase consideration agreed upon was Rs.50,000. 
Of this the company has paid Rs.32,000 in its own 
shares and the balance in cash. Dissolution 
expenses of the firm Rs.600 was paid by the 
company. Prepare realisation A/c. 

   X, Y ©ØÖ® Z GßÓ TmhõÎPÒ •øÓ÷¯ 2:3:4  
GßÓ ÂQuzvÀ C»õ£zøu £Qº¢x Á¢uÚº. AÁºPÒ 
Tmhõsø©ø¯ Áøμ¯ÖUP¨£mh {Ö©zvØS  
30 áúß 2019 AßÖ GÚ •iöÁkzuÚº. AßøÓ¯ 
C¸¨¦ {ø»U SÔ¨¦. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 
PhÜ¢÷uõº 12,000 C¯¢vμ® 30,000
•uÀ :  PhÚõÎPÒ 15,000

X 20,000 \μUQ¸¨¦ 13,000
Y 15,000 öμõUP® 2,000
Z 13,000  

 60,000  60,000

  öPõÒ•uÀ ©Ö£¯ÚõP ¹. 50,000 HØÖU 
öPõÒÍ¨£mhx. AvÀ uÚx ö\õ¢u £[SPøÍ  
¹.  32,000 ©v¨¤¾® «uz öuõøP°øÚ 
öμõUP©õPÄ® {Ö©® ö\¾zv¯x. {ÖÁÚ Pø»¨¦a 
ö\»Ä ¹. 600 I A¢{Ö©® ö\¾zv¯x. 

   Tmhõsø© {ÖÁÚzvß wºÄ C»õ£zvøÚ 
PnUQkP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. P and Q are partners in the ratio 3 : 2. They admit R as a 
partner for 1/4th Share in the profits and he brings  
Rs. 10,000 cash for goodwill and Rs. 20,000 for capital. It 
is decided that the capital of partners are to be in profit 
sharing ratio. Show how the goodwill is shared among the 
partners. Show journal entry for goodwill. 

 P ©ØÖ® Q TmhõÎPÒ AÁºPÎß ÂQu® 3 : 2.  
R TmhõÎ¯õP Cøn¢uÚº. AÁ¸US 1/4 £[S C»õ£® 
AÎUP¨£mhx. |Øö£¯¸UPõP ¹. 10,000 öμõUP©õP  
¹. 20,000 ‰»uÚ©õPÄ® R öPõsk Á¢uõº. TmhõÎPÒ 
AøÚÁ¸® C»õ£ £[S ÂQu Ai¨£øh°À £Qº¢x 
öPõÒÍ •iÄ ö\´uÚº. TmhõÎPÒ |Øö£¯øμ GÆÁõÖ 
£[Qmk öPõÒÁx Gß£øu PõsP. |Øö£¯¸US 
SÔ¨÷£k u¸P. 

17. Ram and Sam are partners sharing profit in proportion to 
capital. Their balance sheet as on 31st March 2020 is as 
under : 

Liabilities Rs. Assets Rs. 

Sundry creditors 70,000 Bank 22,000

Bills payable 40,000 Debtors 60,000

Capital accounts :  Stock 50,000

  Ram 80,000 Building 1,00,000

  Sam 60,000 Furniture 18,000

 2,50,000  2,50,000

 They decided to admit Balu into partnership with effect 
from 1st April, 2020 on the following terms : 

 (a) Balu shall bring in a capital of Rs. 60,000 for  
1/5th share of profits.  

 (b) Goodwill is to be valued at Rs. 50,000 
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 (c) Building and furniture was to be depreciated by 5% 

 (d) Provision for doubtful debts credited at 2
11 % on 

sundry debtors.  

  Show revaluation a/c, capital a/c and balance sheet 
of the reconstructed partnership.   

 μõ® ©ØÖ® \õ® GßÓ TmhõÎPÒ •øÓ÷¯ •uÀ 
ÂQuzvÀ C»õ£® £Qº¢x Á¸QßÓÚº. AÁºPÎß 

31.3.2020 ® |õøÍ¯ C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõº 70,000 Á[Q 22,000

ö\¾zuØS›¯ ©õØÖa^mk 40,000 PhÚõÎPÒ 60,000

•uÀ PnUSPÒ  \μUQ¸¨¦ 50,000

  μõ® 80,000 Pmih® 1,00,000

  \õ® 60,000 AøÓP»ß 18,000

 2,50,000  2,50,000

 AÁºPÒ ¤ßÁ¸® CÚ[PøÍU P¸zvÀ öPõsk £õ¾ 

Gß£Áøμ 2020 H¨μÀ 1 AßÖ Tmhõsø©°À ÷\ºzxU 
öPõÒÍ •iÄ GkzuÚº. 

 (A) £õ¾ uß 1/5 £[SUS ¹. 60,000 •uÀ öPõsk 
Á¸Áx.  

 (B) |Øö£¯º ¹. 50,000 GÚ ©v¨¤kÁx 

 (C) Pmih® ©ØÖ® AøÓP»ß «x 5% ÷u´©õÚ® 
}USÁx 

 (D) £Ø£» PhÚõÎPÒ «x 2
11 % ÁμõUPhß JxUS 

E¸ÁõUSP. 

  ©Ö©v¨¥mkU PnUS •uÀ PnUSPÒ ©ØÖ® 
C¸¨¦ {ø»U SÔ¨¦ u¯õº ö\´P. 
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18. A, B and C were partners sharing profit in the proportion 
of 4 : 3 : 2 respectively. Their Balance Sheet as at 
31.3.2019 respectively : 

Liabilities Rs. Assets Rs. 

Capital :  Goodwill 12,000

A 60,000 Other assets 1,88,000

B 50,000  

C 40,000  

Other liabilities 50,000  

 2,00,000  2,00,000

 ‘A’ retired on 1.4.2019 on which date the Goodwill of the 
firm was estimated at Rs.21,000. How will you deal with 
it in the books of the firm? 

 A, B ©ØÖ® C ‰Á¸® TmhõÎPÒ J¨£¢uzvß£i C»õ£ 

|mh[PøÍ 4 : 3 : 2 GßÓ ÂQuzvÀ £Qº¢x öPõshÚº. 

31.3.2019 À AÁºPÍx C¸¨¦ {ø» SÔ¨¦. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ :  |Øö£¯º 12,000

A 60,000 Cuμ ö\õzxUPÒ 1,88,000

B 50,000  

C 40,000  

Cuμ ö£õÖ¨¦PÒ 50,000  

 2,00,000  2,00,000

 1.4.2019–À A K´Ä ö£ÖQÓõº. A÷u ÷uv°À {Ö©zvß 

|Øö£¯º ¹. 21,000 GÚ ©v¨¤h¨£mhx.  

 {Ö© HkPÎÀ GÆÁõÖ CuøÚ £vÄ ö\´Áõ´?  
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19. Who are preferential creditors in the following liabilities 
of insolvent Babu according to presidency from 
Insolvency Act and Provincial Insolvency Act? 

 3 Month’s salary for 10 clerks – Rs.3,600 

 One month wages of 12 labourers – Rs.1,600 

 Sales Tax – Rs.400 

 3 Months rent of landlord – Rs.600 

 Income Tax – Rs.1,000 

 Wages of Four servants – Rs.1,400 

 Salaries – Rs.1,000 

 Municipal Tax – Rs.400 

 Wages – Rs.6,000 

 ¤ßÁ¸® ÂÁμ[PøÍU öPõsk ©õPõn |Pμõm] ©ØÖ® 
©õPõn ö|õi¨¦ \mhzvß£i £õ¦ Gß£Áº ö|õi¨¦ 
Aøh¢uõº GßÓ Ai¨£øh°À CvÀ •ßÝ›ø© 
PhÜ¢÷uõº ¯õº? 

 3 ©õu® \®£Í® 10 GÊzuºPÐUS – ¹. 3,600 

 J¸ ©õu T¼ 12 EøÇ¨£õÍºPÍUS – ¹.1,600 

 ÂØ£øÚ Á› – ¹. 400 

 3 ©õu E›ø©¯õÍº ÁõhøP – ¹. 600 

 Á¸©õÚ Á› – ¹. 1,000 

 4 ÷Áø»¯õmPÎß T¼ – ¹. 1,400 

 \®£Í® – ¹. 1,000 

 |Pμõm] Á› – ¹. 400 

 T¼PÒ – ¹. 6,000 

20. Explain the accounting treatment to be followed by the 
partnership concern at the time of sale to a company.  

Tmhõsø© {ÖÁÚzøu, {Ö©zvØS ÂØS® ö£õÊx 
¤ß£ØÓ £h ÷Ási¯ PnUQ¯À •øÓPøÍ ÂÁ›. 

———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 × 2 = 20) 

Answer all questions. 

1. Define Management.  
÷©»õsø© – Áøμ¯Ö. 

2. Write the importance of staffing. 
£o¯õÍº {¯©Ú® •UQ¯zxÁzøu GÊxP. 

3. What is the first steps of planning? 
vmhªku¼ß •uÀ £i{ø» ¯õx? 

4. Define Planning premises. 
vmhªhÀ ÁÍõPzøu Áøμ¯Ö. 

5. What is meant by departmentation? 
xøÓPÍø©zuÀ GßÓõÀ GßÚ? 

6. Define organizing. 
JÊ[Pø©¨£øu Áøμ¯ÖUPÄ®. 

7. What is meant by effective communication? 
£¯ÝÒÍ uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 
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8. Explain the meaning of Motivation. 

Á¢xu¼ß Aºzuzøu ÂÍUS[PÒ. 

9. Why controlling is important? 

Hß Pmk¨£kzxÁx •UQ¯®? 

10. List any four types of Control. 

G¢u |õßS ÁøP¯õÚ Pmk¨£õmøh²® £mi¯¼k[PÒ. 

 Section B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What is meant by Scientific Management? Explain 
its objectives. 

   ÂgbõÚ ÷©»õsø© GßÓõÀ GßÚ? Auß 
÷|õUP[PÒ ÂÍUPÄ®. 

Or 

 (b) List down the Henry Fayols' Principles. 

   öíßÔ L£õ¯¼ß uzxÁ[PøÍ £mi¯¼kP. 

12. (a) Explain the different types of plans in detail. 

   £À÷ÁÖ ÁøP¯õÚ vmh[PÒ Â›ÁõP ÂÍUPÄ®. 

Or 

 (b) What are the limitations of planning?  

   vmhªku¼ß SøÓ£õkPÒ ¯õøÁ? 

13. (a) Briefly explain the theories of organization. 

   Aø©¨¤ß ÷Põm£õkPøÍ _¸UP©õP ÂÍUSP. 

Or 

 (b) What are the merits of delegation? 

   AvPõμ J¨£øh¨¤ß |ßø©PÒ ¯õøÁ? 
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14. (a) Bring out the different barriers of Communication. 

   uPÁÀ öuõhº¦UPõÚ £À÷ÁÖ uøhPøÍ öÁÎ÷¯ 
öPõsk Áõ¸[PÒ. 

Or 

 (b) What are the characteristics of a good 
communication system? 

   J¸ |À» uPÁÀ öuõhº¦ •øÓ°ß C¯À¦PÒ 
¯õøÁ? 

15. (a) What is controlling and its features? 

   Pmk¨£kzxuÀ ©ØÖ® Auß A®\[PÒ GßÚ? 

Or 

 (b) What are the major techniques of control? 

  Pmk¨£õmkUPõÚ •UQ¯ ~m£[PÒ ¯õøÁ? 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the contribution of F.W. Taylor to Management. 

÷©»õsø©US F.W. öh´»›ß £[PÎ¨ø£¨ £ØÔ 
ÂÁõvUPÄ®. 

17. Discuss the nature and scope of planning. 
vmhzvß ußø© ©ØÖ® ÷|õUP® SÔzx ÂÍUPÄ®. 

18. Discuss the features of organizing. 
HØ£õk A®\[PÒ £ØÔ ÂÁõvUPÄ®. 

19. Describe the process of communication. 
ö\´v¨ £›©õØÓ •øÓø¯ ÁºoUP. 

20. Discuss the significance of controlling functions.  
Pmk¨£kzx® ö\¯À£õmiß •UQ¯zxÁzøu £ØÔ 
ÂÁõvUPÄ®. 

———————— 
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(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is branch banking? 

 QøÍ Á[Q GßÓõÀ GßÚ? 

2. Define Central bank. 

 ©zv¯ Á[Q Áøμ¯ÖUP. 

3. What is recurring deposit account? 

 öuõhºa]¯õÚ øÁ¨¦ PnUS GßÓõÀ GßÚ? 

4. What is joint account? 

 Tmk PnUS GßÓõÀ GßÚ? 

5. Who is a drawer? 

 Áøμ£Áº ¯õº? 

6. What do you mean by double crossing? 

 Cμmøh RÓÀ CkuÀ GßÓõÀ GßÚ? 

7. What is endorsement? 

 J¨¦uÀ GßÓõÀ GßÚ? 

Sub. Code 
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8. What is a general endorsement? 

 ö£õx J¨¦uÀ GßÓõÀ GßÚ? 

9. Who is a holder for value? 

 ©v¨¦US øÁzv¸¨£Áº ¯õº? 

10. Who is a collecting banker? 

 ÷\P›US® Á[Q¯õÍº ¯õº? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the duties of a banker. 

   Á[Q¯õÍ›ß Phø©PøÍ £mi¯¼k[PÒ. 

Or 

 (b) “Banker is a privileged debtor” – Comment. 

   Á[Q¯õÍº J¸ \¾øP ö£ØÓ PhÚõÍº – P¸zx. 

12. (a) What are the documents a banker should obtain 
while opening an account in the name of firm? 

   Tmk £[S {ÖÁÚzvß ö£¯›À J¸ PnUøPz 
vÓUS® ÷£õx Á[Q¯õÍº ö£Ó ÷Ási¯ 
BÁn[PÒ GßÚ? 

Or 

 (b) Write the features of fixed deposit.  

   {ø»¯õÚ øÁ¨¦ A®\[PøÍ GÊx[PÒ. 

13. (a) Give the characteristic of cheque. 

   Põ÷\õø»°ß £s¦PøÍ öPõkUP. 

Or 

 (b) What are the significance of General Crossing? 

   ö£õxU RÓ¼h¼ß •UQ¯zxÁ® GßÚ? 
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14. (a) Bring out the legal position regarding the 
endorsement by the legal representative. 

   \mh ¤μv{v J¨¦uÀ öuõhº£õÚ \mh 
{ø»¨£õmøh öÁÎ¨£kzx[PÒ. 

Or 

 (b) What are the cardinal rules regarding a valid 
endorsement? 

   ö\À¾£i¯õS® J¨¦uÀ öuõhº£õÚ PõºiÚÀ 
ÂvPÒ GßÚ? 

15. (a) State the relevant RBI instructions to a collecting 
banks in respect of collection of cheques. 

   Põ÷\õø» ÷\P›¨¦ öuõhº£õP \®£¢u¨£mh RBI 
AÔÄÖzuÀPøÍ ÷\P›US® Á[Q¯õÍ¸US 
öu›ÂUPÄ®. 

Or 

 (b) What are the statutory protection to a Collecting 
Banker? 

   ÷\P›US® Á[Q¯õÍ›ß •ußø© £õxPõ¨¦ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss about the obligation of a banker to maintain 
secrecy of customer’s account. 

ÁõiUøP¯õÍ›ß PnUSPÎß CμP]¯zøu £μõ©›UP J¸ 
Á[Q¯õÍ›ß Phø© £ØÔ ÂÁõvUPÄ®. 

17. Describe as to how will you open an account in a bank. 

 }[PÒ J¸ Á[Q°À J¸ PnUøP GÆÁõÖ vÓ¨¥ºPÒ 
Gß£øu ÂÁ›UPÄ®. 

18. Explain the circumstances under which marking of 
cheque. 

Põ÷\õø»°À SÔUS® `Ì{ø»PøÍ ÂÍUPÄ®. 
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19. Examine the effect of endorsement with regard to the 
nature of endorsement done by the endorser. 

J¨¦u¼ß ußø©ø¯¨ ö£õÖzx J¨¦u¼ß ÂøÍøÁ 
Bμõ²[PÒ. 

20. Explain the duty of the collecting banker as regards 
serving notice of dishonor on the customer’s cheques.  

ÁõiUøP¯õÍº Põ÷\õø»PÎÀ AÁ©v¨¦ AÔÂ¨ø£ 
ÁÇ[SÁx öuõhº£õÚ ÷\P›US® Á[Q¯õÍ›ß Phø©ø¯ 
ÂÍUS[PÒ. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Annuity. 
 BsköuõøP Áøμ¯Ö. 

2. If a bicycle was purchased for Rs.  3450 and sold for  
Rs.  3850, find the profit percentage. 

 ¹. 3,450 Áõ[P¨£mh ªvÁsi¯õÚx ¹. 3,850 
ÂØUP¨£mhõÀ »õ£ \uÃuzøuU PõsP. 

3. Write into exponential form ( )8log3 10 += x . 

 ( )8log3 10 += x –I AkUS \õº¤À GÊxP. 

4. Solve 5 34
10 1010log . 

 5 34
10 1010log –I wºUP. 

5. Find BA ∩ , where A, B be are disjoint sets. 
 A, B Gß£Ú C¸ öuõhº¤À»õ Pn[PÒ GÛÀ BA ∩ –I 

PõsP. 
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6. Write all possible subset of { }3,2,1 . 

 { }3,2,1 –ß AøÚzx EmPn[PøÍ²® GÊxP 

7. Define sample space. 
 TÖöÁÎ Áøμ¯õÖ. 

8. If two cards are drawn at random from a well – shuffled 
pack of 52 cards then what is the probability that both 
are aces? 

 |ßSP»UP¨£mh 52 ^mkUPÒ öPõsh ^mkUPmi¼¸¢x 
C¸ ^mkUPÒ GkUP¨£kQßÓÚ GÛÀ AÆÂ¸ 
^mkUPÐ® Hì ^mkUPÍõP Aø©¯ {PÌuPÄ GßÚ? 

9. What is the condition the Binomial distribution to be 
symmetric? 

 D¸Ö¨¦¨£μÁÀ \©^μõP Aø©¯Pmk¨£õk GßÚ? 

10. If the mean of a Poisson distribution is 4, find standard 
deviation. 

 £õ´éõß £μÁ¼ß \μõ\› 4 GÛÀ Auß vmhÂ»UPzøuU 
PõsP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) If John deposited Rs.  2,500 in his account at the 
end of every quarter for the next 5 years, how much 
will be in the account at the time of the final deposit 
if interest is 9% compounded quarterly? 

  Põ»õsiØS 9% Tmk Ámi°À JÆöÁõ¸ 
Põ»õsiß •iÂ¾® áõß Gß£Áº ÷\ª¨¦ 

PnUQÀ ¹. 2,500–I 5 BskPÐUS •u½k 
ö\´QÓõº GÛÀ AÁº CÖv¯õP •u½k ö\´²® 
÷£õx ö©õzu ÷\ª¨¦ öuõøP GÆÁÍÄ C¸US®? 

Or 
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 (b) A tradesman makes his goods 21% above of the cost 

of the price and allows his customer 12% reduction 

on their bills then find the percentage of profit he 

got? 

  J¸ ÁºzuPº, uÚx ö£õ¸mPÎß Âø»ø¯ Âh 21% 

AvP©õP SÔ¨¤kQÓõº ÷©¾® AÆÂø»°À uÚx 

ÁõiUøP¯õÍºPÐUS 12% Âø» SøÓ¨¦ ö\´uõÀ, 

QøhUS® C»õ£ \uÃuzøuU PõsP. 

12. (a) If ,log2 ax a=  ay a 2log3= , az a 3log4= , Show that, 

.21 yzxyz =+  

  ,log2 ax a=  ay a 2log3= , az a 3log4=  GÛÀ 

.21 yzxyz =+  GÚ PõsP. 

Or 

 (b) Simplify 
5

2

log
z

yx
b . 

  _¸USP 
5

2

log
z

yx
b . 

13. (a) State and prove commutative law with an example. 

  £›©õØÖ Âvø¯ TÔ Euõμnzxhß {¹¤. 

Or 
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 (b) If { } { }8,6,4,2,4,3,2,1 == BA  and { }6,5,4,3=C  

find 

  (i) BA −  
(ii)  CB −  
(iii) BB −  

  { } { }8,6,4,2,4,3,2,1 == BA  ©ØÖ® { }6,5,4,3=C  
GÛÀ  

  (i) BA −  
(ii)  CB −  
(iii) BB −  BQ¯ÁØøÓU PõsP. 

14. (a) If a bag contains 7 red, 12 white and 4 green balls, 
what is the probability that (i) 3 balls drawn are  
all white (ii) 3 balls drawn are one of each colour. 

  J¸ ø£°À 7 ]P¨¦, 12 öÁÒøÍ ©ØÖ® 4 £aø\ 

£¢xPÒ EÒÍÚ GÛÀ (i) 3 £¢xPÒ GkUP¨£k® 

÷£õx AøÚzx® öÁÒøÍ £¢uõP ©ØÖ® (ii) 3 
GkUP¨£k® ÷£õx AøÚzx Ásnzv¾® 
JÆöÁõßÖ C¸UP {PÌuPÄ GßÚ? 

Or 

 (b) If X and Y are independent random variable then 
prove that ( ) ( ) ( )YEXEYXE ⋅=⋅ . 

  X ©ØÖ® Y \õº£ØÓ \©Áõ´¨¦ ©õÔPÒ GÛÀ 

( ) ( ) ( )YEXEYXE ⋅=⋅  GÚ {ÖÄP. 

15.  (a) Five coins are tossed 3,200 times, find the 
frequencies of the distribution of heads and tails 
and tabulate the results. 

  I¢x |õn¯©õÚx 3,200 •øÓ _sh¨£k® ÷£õx § 
©ØÖ® uø»Qøh¨£uØPõÚ Aø»öÁs £μÁ¼ß 
•iÄPøÍ¨ £mi¯¼kP. 

Or 
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 (b) A book contains 100 misprints distributed randomly 

throughout its 100 pages. What is the probability 

that a page observed at random contains atleast two 

misprints. Assume Poisson distribution. 

   J¸  ¦zuPzvÀ 100 £UP[PÎÀ ÷uõμõ¯©õP 100 

Aa_¨¤øÇPÒ ÂμÂ²ÒÍÚ. ^μØÓ •øÓ°À 

PÁÛUP¨£mh J¸ £UPzvÀ SøÓ¢u£m\® Cμsk 

Aa_¨¤øÇPÒ uØPõÚ £õ´\ß £μÁø» {Ö¤.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A sum of money invested at compound interest payable 

yearly amounts to Rs. 10,816 at the end of the second 

year and to Rs. 11,248.64 at the end of the third year. 

Find the rate of interest and the sum. 

 J¸ SÔ¨¤mh öuõøP¯õÚx Tmk Ámi°À •u½k 

ö\´¯¨£kQÓx, Ax Cμshõ® Bsk •iÂÀ ¹. 10,816 

BPÄ® ÷©¾® ‰ßÓõ® Bsk •iÂÀ ¹. 11,248.64 GÚ 

AvP›US÷©¯õÚõÀ Ámi Ãuzøu²® öuõøPø¯²® 

PõsP. 

17. Solve the following: 

 (a) 3log35loglog 222 +=x  

 (b)  4log 2
2 =x  

 ¤ßÁ¸ÁÚÁØøÓz wºUP. 

 (A) 3log35loglog 222 +=x  

 (B)  4log 2
2 =x  
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18. State and prove De – Morgan’s laws using Venn – 
diagram. 

 j–©õºUPßì Âvø¯ TÔ öÁs£h® ‰»® {¹¤. 

19. State and prove Baye’s theorem. 
 ÷£´ì ÷uØÓzøu TÔ {ÖÄP. 

20. Uses of distributions in business- Discuss. 

 ÁoPzvÀ £μÁ¼ß £¯ß£õmøh ÂÁ›. 

 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State the meaning of cost plus contract. 

 ö\»Ä ©ØÖ® J¨£¢u® ö£õ¸Ò TÖP. 

2. What is certificate of completion? 

 {øÓÄ \õßÔuÌ GßÓõÀ GßÚ? 

3. Write short note on Royalty suspense account. 

 Põ¨¦›ø© A|õ©zx PnUS ]Ö SÔ¨¦ GÊxP. 

4. What is dead rent? 

 SøÓ¢u£m\ ÁõhøP GßÓõÀ GßÚ? 

5. State the meaning of hire purchase price. 

 ÁõhøP öPõÒ•uÀ Âø» ö£õ¸Ò TÖP. 

Sub. Code 
7BCO4C4 
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6. What is Instalment purchase system? 

 uÁønU öPõÒ•uÀ •øÓ GßÓõÀ GßÚ? 

7. Who are preferential creditors?  

 •ßÝ›ø© PhÜ¢÷uõº Gß£Áº ¯õº? 

8. State the two features of insolvency of partnership firm.   

 ö|õizu Emk¨£[S {ÖÁÚzvß ]Ó¨¤¯À¦PÒ Cμsk 
TÖP. 

9. Write the two advantages of departmental accounting. 

 xøÓÁõ› PnUQß Cμsk |ßø©PøÍ GÊxP. 

10. What is wholesale branch? 

 ö©õzuÂø» QøÍ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Contract price  – Rs. 5,00,000 

  Work certified  – Rs. 2,50,000 

  Notional profit  – Rs. 1,20,000 

  Cash received is 80% work certified. 

  Calculate the amount to be transferred to the profit 
and loss account.  

  J¨£¢u Âø»  – ¹. 5,00,000 

\õßÓÎUP¨£mh Âø» –  ¹. 2,50,000 

  ¦»ÚõPõ C»õ£® – ¹. 1,20,000 

  80% \õßÓÎUP¨£mh ÷Áø»US öuõøP 
ö£Ó¨£mhx. C»õ£ |mh PnUQÀ Põmh¨£h 
÷Ási¯ öuõøPø¯ PõsP. 

Or 

 (b) Write the specimen of contract account. 

  J¨£¢u PnUQß ©õv›¨ £iÁzøu GÊxP. 
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12. (a) Compute short working recovered from the 
following particulars assuming short working as 
recoupable in the following two years.   

  Royalty Rs. 5 per ton of coal raised  

  Dead Rent Rs. 35,000 p.a. 

Output 1999 : 5000 tonnes, 2000: 8000 tonnes, 2001 
: 10,000 tonnes. 

  {øÓö£Óõu ÷Áø»ø¯ Cμsk Á¸h[PÎÀ 
ö£Ó¨£k®. {øÓÄö£Óõu «mhø» PnUQkP. 

Põ¨¦›ø© ¹. 5 {»UP› E¯ºÂÚõÀ hßÛØS  
¹. 35,000 BsiØS  

EØ£zv 1999 : 5000 hß, 2000:8000 hß, 2001 :  
10,000 hßPÒ. 

Or 

 (b) What is strike? Describe the different methods of 
dealing with the effect of strike in Royalty accounts. 

  ÷Áø»{Özu® GßÓõÀ GßÚ? Põ¨¦›ø© PnUQÀ 
÷Áø»{ÖzuzvÀ EÒÍ £À÷ÁÖ •øÓPøÍ ÂÁ›. 

13. (a) Raman purchased 4 cars for Rs. 14,000 each on 
1.1.2015 under his purchase system. The his 
purchase price for all that 4 cars were Rs. 60,000. 
As per agreement Rs. 15,000 is to be paid on signing 
the contract and 3 equal instalments of Rs. 15,000 
each at the end of each year. Interest in  charged of 
15% per annum. From the above particulars journal 
entries in the books of Raman.  

  μõ©ß uÚx öPõÒ•uÀ •øÓ°ß RÌ 1.1.2015 
AßÖ u»õ ¹.14,000&US |õßS PõºPøÍ Áõ[QÚõº. 
A¢u |õßS PõºPÐUS® AÁº Áõ[Q¯ Âø» 
¹.60,000/&. J¨£¢uzvß £i J¨£¢uzvÀ 
øPö¯õ¨£ªk®÷£õx ¹.15,000/& ©ØÖ® JÆöÁõ¸ 
Á¸hzvß •iÂÀ u»õ ¹.15,000/& Ãu® ‰ßÖ 
\©©õÚ uÁønPÍõP ö\¾zu ÷Ásk®. BskUS 
15% Ámi Á`¼UP¨£kQÓx. ÷©ØPsh 
ÂÁμ[PøÍU öPõsk μõ©ß AÁºPÎß HkPÎÀ 
÷uõßÖ® SÔ¨¤mk £vÄPøÍ u¸P. 

Or 
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 (b) Explain the main features of rise purchase system. 

  ÁõhøP öPõÒ•uÀ •øÓ°ß •UQ¯ 
]Ó¨¤¯À¦PøÍ ÂÁ›. 

14. (a) Why do prepare a deficiency account? What are its 
contents? 

  £ØÓõUSøÓ PnUS Hß u¯õ›UP ÷Ásk®. AuÛß 
EÒÍhUP[PÒ GßöÚßÚ? 

Or 

 (b) Vikram of chennai owes the following Sums: 
 Rs. 

Income tax 4,000

Corporation tax 600

Wages 2 servants 500

Salaries to 4 clerks 2,700

Rent to landlord  
for 3 months 

3,000

  Determine the amount payable by him as 

preferential creditors and unsecured creditors, if he 

become insolvent. 

  ö\ßøÚ°À EÒÍ ÂUμ® ¤ßÁ¸® öuõøPPøÍ 
ö\¾zu ÷Ási°¸UQÓx.  

 ¹. 

Á¸©õÚ Á› 4,000
©õ|Pμõm] Á› 600
Cμsk FÈ¯ºPÒ T¼ 500
|õßS GÊzuºPÎß \®£Í® 2,700
{»UQÇõº ÁõhøP 3 ©õu® 3,000

  AÁº ö|õizu¨ ÷£õÚõÀ •ßÝ›ø© PhÜ¢÷uõºPÒ 
©ØÖ® £õxPõ¨£ØÓ PhÜ¢÷uõºUS ö\¾zu ÷Ási¯ 
öuõøPø¯ wº©õÛUPÄ®. 
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15.  (a) What are bases on which expenses are allocated 
among the departments? 

  xøÓPÐUQøh÷¯ G¢u Ai¨£øh°À ö\»ÄPÒ 
£[Qh¨£kQßÓÚ? 

Or 

 (b) X Ltd opened a branch at Madurai on 1.1.2018. 
From the following particulars, prepare branch 
account in the books of head office for the year 2018 

 Rs. 

Goods sent to Madurai branch 15,000

Cash sent to branch for : 

Rent 1,800

Salaries 3,000

Other expenses 1,200

Cash received form branch  24,000

Stock on 31st December 2018 2,300

Petty cash in hand 40

  X {ÖÁÚ® 1.1.2018 AßÖ uÚx QøÍ JßÔøÚ 
©xøμ°À öuõh[Q¯x. ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 
2018 B® BsiØPõÚ uø»ø© A¾Á»P HkPÎÀ 
÷uõßÓUTi¯ QøÍ PnUQøÚ u¯õº ö\´P. 

 ¹. 

©xøμ QøÍUS AÝ¨¤¯ \μUS 15,000

QøÍUS AÝ¨¤¯ öμõUP® 

ÁõhøP 1,800

\®£Í® 3,000

Cuμ ö\»ÄPÒ 1,200

QøÍ°¼¸¢x ö£ØÓ öμõUP® 24,000

i\®£º 31, 2018&À \μUQ¸¨¦ 2,300

øP°¸¨¦ ]À»øÓ öμõUP® 40
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A firm of contractors undertook three contracts on  
1st April 2014 and 1st October, 2014 and 1st Jan, 2015 on 
31st March, 2015 when their accounts were made up, the 
position was follows:  

 I II III 

Contract price 4,00,000 1,35,000 1,50,000

Materials 72,000 29,000 10,000

Wages 1,10,000 56,200 7,000

General exps 4,000 1,400 500

Plant 20,000 8,000 6,000

Materials on hand 4,000 2,000 1,000

Wages outstanding 3,400 1,800 800

Work certified 2,00,000 80,000 18,000

Cash received 1,50,000 60,000 13,500

Work uncertified 6,000 4,000 1,050

General exps outstanding 600 200 100

 The plant were installed on the respective dates of the 
contract and depreciation is taken at 10% p.a. Prepare 
contract accounts.  

 J¸ {ÖÁÚ J¨£¢uUPõμºPÒ 3 J¨£¢u[PøÍ 
÷©ØöPõshx, 1 H¨μÀ 2014, 1 AU÷hõ£º 2014 ©ØÖ® 1 
áÚÁ› 2015. AÁºPÎß PnUSPÒ ¤ßÁ¸©õÖ.  

 I II III 
J¨£¢u Âø» 4,00,000 1,35,000 1,50,000
‰»¨ö£õ¸Ò 72,000 29,000 10,000
T¼ 1,10,000 56,200 7,000
ö£õxa ö\»ÄPÒ  4,000 1,400 500
uÍÁõh[PÒ 20,000 8,000 6,000
‰»¨ö£õ¸Ò 
øP°À 

4,000 2,000 1,000
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T¼ öPõk£h 
÷Ási¯x 

3,400 1,800 800

\õßÓÎUP¨£mh 
÷Áø»  

2,00,000 80,000 18,000

ö£Ó¨£mh öμõUP® 1,50,000 60,000 13,500
\õßÓÎUP¨£hõu 
÷Áø» 

6,000 4,000 1,050

ö£õxa ö\»ÄPÒ 
öPõk£h ÷Áskx 

600 200 100

 uÍÁõh[PÎß ÷u´©õÚ® 10% p.a.  J¨£¢u PnUQøÚ 
u¯õ›UPÄ®. 

17. Explain the methods of recoupment. 

 «möhkzu¼ß •øÓPøÍ ÂÁ›. 

18. Mr. Thiruselvam purchased a machine under hire 
purchase agreement from Mr. Karthik. The cash price for 
the machine was Rs. 45,500. The payment for the 
purchase is to be made us under.  

 On signing the agreement Rs. 8,800. End of the first year 
Rs. 12,500 end of second year Rs. 12,500, end of third 
year Rs.12,500 make necessary entries in the books of 
both the parties. Charge depreciation at the rate of 10% 
diminishing balance method. 

 v¸. v¸aö\ÀÁ® Gß£Áº v¸.PõºzvU Gß£Á›hª¸¢x 
J¸ C¯¢vμzøu ÁõhøP öPõÒ•uÀ J¨£¢u¨£i 
öPõÒ•uÀ ö\´xÒÍõº. C¯¢vμzvß öμõUP {ø» 
¹.45,500. öPõÒ•u¾UPõÚ Âø» ¤ßÁ¸©õÖ 
ö\¾u¨£mhx.  

 J¨£¢u® øPö¯¾zuõS®÷£õx ¹.8,800 •u»õ©õsk 
CÖv°À ¹.12,500. Cμshõ©õsk CÖv°À ¹.12,500 
‰ßÓõ©õsk CÖv°À ¹.12,500. Cμsk |£ºPÎß 
HkPÎ¾® ÷uøÁ¯õÚ SÔ¨÷£mk¨ £vÄPøÍz u¸P. 
SøÓ¢x ö\À C¸¨¦ •øÓ¨£i 10% ÷u´©õÚzøu 
GÊxP. 

19. Discuss the different types of Insolvency accounts. 

 ö|õi¨¦ {ø» PnUQß £À÷ÁÖ ÁøPPøÍ ÂÁõv. 
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20. The Chennai Lolith textiles Ltd. Opened a branch at of 
Calcutata on 1st January, 2017.  

 From the following particulars prepare all the accounts 
effected for 2017-2018 and 2018-2019, in the books of the 
head office. 

 2017-18
Rs. 

2018-2019
Rs. 

Goods sent to calcutta 22,500 67,500
Cash sent to branch for  
Rent 3,000 3,000
Salaries  2,400 3,400
Other expenses 1,000 1,500
Cash received from branch 35,000 80,000
Stock on 31st December 3,500 13,000
Petti cash in hand on  
31st December 

60 130

 ö\ßøÚ ÷»õ¼z öhUìøhÀì ¼ªöhm QøÍ 1 áÚÁ› 
2017 AßÖ PÀPzuõÂÀ vÓUP¨£mhx.  

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x uø»ø© A¾Á»P¨ 
¦zuP[PÎÀ 2017&18 ©ØÖ® 2018&19 B® BskUPõÚ 
AøÚzx PnUSPøÍ²® u¯õº ö\´¯Ä®. 

 2017-18
¹. 

2018-2019
¹. 

PÀPzuõÂØS  
AÝ¨£¨£mh ö£õ¸Ò 

22,500 67,500

QøÍ ö\»ÂØS AÝ¨£¨£mh £n® 
ÁõhøP 3,000 3,000
\®£Í® 2,400 3,400
©ØÓ ö\»ÄPÒ 1,000 1,500
QøÍ°hª¸¢x ö£Ó¨£mh £n® 35,000 80,000
31st i\®£›À \μUQ¸¨¦ 3,500 13,000
31st i\®£›À ]Ö öuõøP°¸¨¦ 60 130

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is share premium? 

 £[S •øÚ©® GßÓõÀ GßÚ? 

2. What do you know about cumulative preference shares? 

 SÂÄ •ßÝ›ø©¨ £[SPÒ £ØÔ }Âº AÔÁx GßÚ? 

3. Write the meaning of acquisition of business. 

 {ÖÁÚ øP¯P¨£kzxuÀ Gß£uß ö£õ¸Ò GÊxP. 

4. What do you understand by profit prior to Incorporation? 

 TmkÓÁõUPzvØS •¢øu¯ C»õ£® £ØÔ }Âº ¦›Áx 
GßÚ? 

5. What is final dividend? 

 CÖv £[Põuõ¯® GßÓõÀ GßÚ? 

6. What is final account? 

 CÖvU PnUSPÒ GßÓõÀ GßÚ? 

Sub. Code 
7BCO5C1 
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7. Define Alteration of share capital. 

 £[S ‰»uÚ® ©õØÔ¯ø©¨¦ Áøμ¯ÖUP. 

8. What is meant by Internal Reconstruction? 

 {ÖÁÚ APa ^μø©¨¦ Gß£uß ö£õ¸Ò GßÚ? 

9. What do you understand by Average profit method? 

 \μõ\› C»õ£ •øÓ £ØÔ }Âº ¦›Áx GßÚ? 

10. What is preferential creditor? 

 •ßÝ›ø© PhÜ¢÷uõº GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Give Journal entries to record the following: 

   (i) Issue of Rs. 85,000 10% debentures at a 
discount of 5% redeemable at par.  

  (ii) Issue of Rs. 80,000, 8% debentures at a 
discount of 10% and redeemable at a premium 
of 10%.  

   RÌPõq® |hÁiUøPPÐUS SÔ¨÷£mk £vÄ u¸P. 

  (i)  ¹. 85,000 ©v¨¦ÒÍ 10% Phß £zvμ[PÒ 5% 
ÁmhzvÀ öÁÎ°h¨£mk ¤ß¦ •P©v¨¤À 
«mP¨£mhx. 

  (ii) ¹. 80,000 ©v¨¦ÒÍ 8% Phß £zvμ[PÒ 10% 
ÁmhzvÀ öÁÎ°h¨£mk ¤ß¦ 10% 
•øÚ©zvÀ «mP¨£mhx. 

Or 
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 (b) X Ltd Issued 1,000 9% debentures of Rs. 100 each. 
Write Journal entries when they are Issued (i) at 
par (ii) at 20% premium and (iii) at 10% discount 

   GUì ¼ªöhm 1,000 9% PhÜmk¨ £zvμ[PøÍ  
¹. 100 Ãu® öÁÎ°mhx. ¤ßÁ¸® 

öÁÎ±kPÐUS SÔ¨÷£mk £vÄ GÊxP. (i) •P 

©v¨¤À öÁÎ°kuÀ (ii)  20% •øÚ©zvÀ 

öÁÎ°kuÀ (iii) 10% ÁmhzvÀ öÁÎ°kuÀ 

12. (a) How do you calculate time ratio? 

   Põ» ÂQuzvøÚ }Âº GÆÁõÖ PnUQkÁõ´? 

Or 

 (b) From the following particulars ascertain profit prior 
to incorporation.   

  (i) Time ratio 3:5 

  (ii) Sales ratio 4:6 

  (iii) Gross profit Rs. 12,00,000 

  (iv) Expenses debited to P and L are were 

 Rs. 

Salaries 96,000 

General expenses 12,000 

Avertissement 50,000 

Printing and stationary 60,000 

   RÌUPõq® Â£μ[PÎ¼¸¢x Tmk¸ÁõUPzvØS 
•¢øu¯ »õ£ |mh[PøÍ PnUQkP. 

  (i)  Põ» ÂQu® 3:5 

  (ii) ÂØ£øÚ ÂQu® 4:6 
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  (iii) ö©õzu C»õ£® ¹. 12,00,000 

  (iv) C»õ£ |mhUPnUQÀ £ØÖ ö\´¯¨£mh 
ö\»ÂÚ[PÒ R÷Ç öPõkUP¨£mkÒÍÚ. 

 ¹. 

\®£Í® 96,000 
ö£õxa ö\»ÄPÒ 12,000 
ÂÍ®£μ® 50,000 
Aa_ ©ØÖ® GÊx ö£õ¸Ò 60,000 

13. (a) The following in the trial balance of Annapoorna 
Ltd. as 31st March 2019. Prepare trading account.  

 Rs. 

Stock, 31st  March 2018 85,000 

Sales 4,00,000 

Purchases 1,45,000 

Wages 40,000 

Discount paid 5,000 

Share capital 2,00,000 

Stock ; 31st March 2019 83,000 

   31 ©õºa 2019 ® |õøÍ AßÚ§ºnõ 
Áøμ¯ÖUP¨£mh {ÖÁÚzvß C¸¨£õ´Â¼¸¢x 
Â¯õ£õμU PnUS u¯õ›UP. 

 ¹. 

\μUQ¸¨¦ 31 ©õºa 2018 85,000 
ÂØ£øÚ 4,00,000 
öPõÒ•uÀ 1,45,000 
T¼ 40,000 
Ámh® ö\¾zv¯x 5,000 
£[S ‰»uÚ® 2,00,000 
\μUQ¸¨¦ 31 ©õºa 2019 83,000 

Or 
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 (b) Give the Balance sheet of a company asper the form 
prescribed in part I of schedule III. 

   Jº {ÖÁÚ C¸¨¦ {ø»U SÔ¨¤ß ¤›Ä & I ¤›Ä – 

III Cß £i ©õ›¨ £iÁ® u¯õ›UP. 

14. (a) B Company which is purchasing company had 
issued one share of Rs. 20 each at Rs. 10 paid up for 
every two shares in the vendor company. There are 
50,000 shares in the vendor. Company the share of 
the purchasing company are quoted  for Rs. 25 in 
the market. Calculate purchase consideration.   

   ¤ {ÖÁÚ® J¸ öPõÒ•uÀ {Ö©® J¸ £[S ¹. 20 
Ãu® EÒÍ £[øP ¹. 10 £[SPÒ Ãu® Cμsk 
£[SPÒ •ÊÁx® ö\¾zu¨£mhøÁPÍõP, 
Â{÷¯õPìuº {Ö©® 50,000 £[SPøÍ A¢{Ö©® 
øÁzxÒÍx. Â{÷¯õPìuº {Ö©zvß £[SPÎß 
\¢øu Âø» ¹. 25 GÚ {ºn¯® ö\´¯¨£mkÒÍx. 
Cøu öPõÒ•uÀ P¸zvÀ PnUQkP. 

Or 

 (b) X Co purchased building of the book value of  
Rs. 2,00,000 from another firm. If was agreed that 
the purchase consideration be paid by issuing 10% 
debenture of Rs. 150 each. Give journal entries if 
the debenture have been issued at par, at discount 
of 10% and at premium of 10%  

   J¸ X {Ö©® ¹. 2,00,000 ©v¨¦ÒÍ Pmihzøu 
©ØöÓõ¸ {Ö©zvhª¸¢x Áõ[Q¯x öPõÒ•uÀ 
©Ö£¯ÚõP 10%  Phß £zvμzøu öÁÎ°h Cø\Ä 
u¢x AUPhß £zvμzvß •P©v¨¦ ¹. 150 BS®. 
Phß £zvμ[PÒ •P©v¨¤À, 10% ÁmhzvÀ ©ØÖ® 
10%  •øÚ©zvÀ öÁÎ°h¨£k®÷£õx uμ 
÷Ási¯ SÔ¨÷£mk £vÄPÒ GÊx. 
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15. (a) Calculate good will on the basis of four years 
purchase of the last five years average profits: 

Year Profit (Rs.) 

First Year 10,000 

Second Year 12,000 

Third Year 22,000 

Fourth Year 4,000 

Fifth Year (Loss) 8,000 

   ¤ßÁ¸® I¢uõsk \μõ\› C»õ£[PÎ¼¸¢x 
|õßPõsk öPõÒ•uÀ •øÓ°À |Øö£¯›øÚ 
PnUQkP. 

Bsk C»õ£® (¹)

•uÀ Bsk 10,000 
Cμsk Bsk 12,000 
‰ßÓõ® Bsk 22,000 
|õßPõ® Bsk 4,000 
I¢uõ® Bsk (|mh®) 8,000 

Or 

 (b) Compute the value of equity share under the Net 
Assets method.  

 Rs. 

Total assets at market value 50,30,000 

Total external Liabilities 12,00,000 

1,00,000 equity shares of Rs. 10 each 10,00,000 

   {Pμ ö\õzx ©v¨¦ •øÓ°À \õuõμn £[Qß 
©v¨¤ß PnUQkP. 

  

\¢øu ©v¨¤ß £i ö©õzu ö\õzxUPÒ 50,30,000 
ö©õzu ¦Ó¨ ö£õÖ¨¦PÒ 12,00,000 
1,00,000 \õuõμn £[SPÒ ¹. 10 Ãu® 10,00,000 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Balaji Ltd issues 50,000 shares of Rs. 10 each at a 
premium of Rs.  1 per share, The shares were payable as 
follows Rs. 2 on application Rs. 5 on allotment (Including 
Premium) Rs.  5 on first call and final call. All the shares 
were applied for and alloted. All moneys were received 
with the exception of the first and final call on 800 shares 
which were for feited. 400 of these were reissued as fully 
paid at Rs. 8 per share.  

Give necessary Journal entries and Prepare cash book of 
the company. 

 £õ»õâ ¼ªöhm 50,000 £[SPøÍ £[S JßÖUS ¹. 10 
Ãu® ¹. 1 •øÚ©zvÀ öÁÎ°mhx. £[SPÐUPõÚ 
öuõøP ¤ßÁ¸©õÖ ö\¾zu ÷Ási¯øÁ. 

 Âsn¨£zvß «x 2, JxURmiß «x ¹. 5 (•øÚ©® 
Em£h) •uÀ ©ØÖ® CÖv AøÇ¨¤ß «x ¹. 5 AøÚzx 
£[SPÐ® HØÖU öPõÒÍ¨£mk JxURk ö\´¯¨£mhx. 
AøÚzx öuõøPPÐ® 800 £[SPÒ «uõÚ •uÀ ©ØÖ® 
CÖv AøÇ¨¦ }[P»õP ö£Ó¨£mhx AuøÚ JÖ¨¤Í¨¦ 
ö\´uÚº. AvÀ 400 £[SPÒ ¹. 8 Ãu® ©ÖöÁÎ±k 
ö\´uÚº. {Ö© HkPÎÀ öμõUP Hmøh²® SÔ¨÷£mk¨ 
£vøÁ²® u¸P. 

17. C Ltd  was incorporated on 30th June 2019 to take over 
the business of D Ltd as from 1st January 2019. The 
financial accounts of the business for the year ended 31st 
December 2019 disclosed the following information: 

  Rs. Rs. 

Sales January to June 2,40,000

 July to December 3,60,000 6,00,000

Less Purchases 

 January to June 1,50,000

 July to December 2,40,000 3,90,000

  2,10,000
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  Rs. Rs. 

Less Salaries 30,000

 Selling expenses 6,000

 Depreciation 3,000

 Director remuneration 1,500

 Debenture Interest 180

 Administrative expenses 9,000 49,680

 Profit for the year 1,60,320

 You are required to prepare profit before and after 
Incorporation account for the year ended 31st December 
2019. 

C  {Ö©® 30 ãß 2019. AßÖ Tmk¸ÁõUP® 
ö\´¯¨£mk, Ax ‘D’ {Ö©zvß öuõÈø» 1.1.2019 AßÖ 
GkzxU öPõshx. 31.12.2019 AßÖ Auß CÖvU 
PnUSPÒ ¤ßÁ¸® ÂÁμ[PøÍ u¸QÓx. 

  ¹. ¹. 

ÂØ£øÚ áÚÁ› & ãß 2,40,000
 ãø» – i\®£º 3,60,000 6,00,000

PÈUP : öPõÒ•uÀ 

 áÚÁ› – ãß 1,50,000
 ãø» – i\®£º 2,40,000 3,90,000

  2,10,000
PÈUP : \®£Í® 30,000

 ÂØ£øÚa ö\»ÄPÒ 6,000
 ÷u´©õÚ® 3,000
 C¯US|º ©v¨§v¯® 1,500
 PhÜmk¨ £zvμuõμº Ámi 180
 {ºÁõPa ö\»ÄPÒ 9,000 49,680

  1,60,320

 31.12.2019 •iÄÖ® BsiØPõÚ Tmk¸ÁõUPzvØS 
•¢øu¯ ©ØÖ® ¤¢øu¯ C»õ£zvøÚ PshÔP. 
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18. The following is the trial balance of Rajalakshmi Ltd as 
30th June 2020.    

 Rs.  

Stock  75,000 

Sales 3,50,000 

Purchases 2,45,000 

Wages 50,000 

Discount received 5,000 

Furniture and Fittings 17,000 

Salaries 7,500 

Rent 4,950 

Sundry Expenses 7,050 

Profit and Loss Appropriation 
account 30th June 2019 

15,030 

Dividend paid 9,000 

Share Capital 1,00,000 

Debtors 37,500 

Creditors 17,500 

Plant and machinery 29,000 

Cash and Bank 16,200 

Reserve 15,500 

Investments 4,830 

 Prepare Trading account, Profit and Loss account, Profit 
and Loss appropriation account for the year ended 30th 
June 2020 and Balance Sheet as at that date. Take into 
considerations the following adjustments. 

 (a) Stock on 30th June 2020 was valued at Rs. 83,000 

 (b) Depreciation on plant and machinery @ 10%, 
furniture and fitting by 5% 

 (c) Make a provision for Income tax @ 55%. 
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 μõá»m_ª ¼ªöhm {ÖÁÚzvß 30 ãß 2020 ® Bsiß 
C¸¨£õ´Ä ¤ßÁ¸©õÖ. 

 ¹.  

\μUQ¸¨¦ 75,000 

ÂØ£øÚ 3,50,000 

öPõÒ•uÀ 2,45,000 

T¼ 50,000 

Ámh® ö£ØÓx 5,000 

AøÓP»ß ©ØÖ® ö£õ¸zxøP 17,000 

\®£Í® 7,500 

ÁõhøP 4,950 

Cuμ ö\»ÄPÒ 7,050 

C»õ£ |mhU £QºÄ PnUS ãß 30 
2019 

15,030 

£[Põu¯® ö\¾zv¯x 9,000 

£[S ‰»uÚ® 1,00,000 

PhÚõÎPÒ 37,500 

PhÜ¢÷uõº 17,500 

ÁÍõP® ©ØÖ® C¯¢vμ® 29,000 

öμõUP® ©ØÖ® Á[Q 16,200 

Põ¨¦ 15,500 

•u¼kPÒ 4,830 

 ¤ßÁ¸® \›UPmhÀPøÍ PnUQÀ GkzxU öPõsk 
Â¯õ£õμU PnUS, C»õ£ |mhU PnUS, C»õ£ |mh 
£QºÄU PnUS ©ØÖ® C¸¨¦ {ø»U SÔ¨¦ u¯õ›UP. 

 (A) ãß 30 2020 ® |õøÍ¯ \μUS C¸¨¦ uØ÷£õøu¯ 
©v¨¦ ¹. 83,000 

 (B) Bø» ©ØÖ® C¯¢vμzvß «x 10% ÷u´©õÚ® 
HØ£kzxP. 

 (C) Á¸©õÚ Á› JxUS 55% Ãu® HØ£kzxP. 
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19. Describe the different methods of calculating purchase 
considerations. 

öPõÒ•uÀ ©Ö£¯ß PnUQk® £À÷ÁÖ •øPøÍ 
ÂÍUSP. 

20. Find out goodwill by capitalising super profits 

 (a) Normal rate of return 12% 

 (b) Profits for the last four years are : Rs. 30,000,  
  Rs. 40,000 Rs. 50,000, Rs. 50,000 

 (c) Non – Recurring income of Rs. 3,000 is included in 
the above mentioned profit of Rs. 3,000 

 (d) Average capital employed Rs. 3,00,000 

 ªøP C»õ£ ‰»uÚ •øÓ°À ÁõoP |Øö£¯º PnUQkP. 

 (A) •u¼mhõÍ›ß \õuõμn Gvº£õº¨¦ Á¸©õÚ® 12% 

 (B) |õßS Á¸h[PÐUPõÚ C»õ£[PÒ •øÓ÷¯  
¹. 30,000, ¹. 40,000, ¹. 50,000, ¹. 50,000 

 (C) ¹. 30,000 »õ£zvÀ ÷\º¢xÒÍ v¸®£ v¸®£ {PÇõ 
Á¸©õÚ® ¹. 3,000. 

 (D) \μõ\›¯õP •u½k ö\´¯¨£mh ‰»uÚ®  
¹. 3,00,000. 

 
 
 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define cost Accounting. 

 AhUPÂø» PnUQ¯À Áøμ¯Ö. 

2. What are the elements of cost? 

 ö\»ÄU TÖPÒ GßöÚßÚ? 

3. Write a not on ABC analysis. 

 ABC £S¨£´Ä £ØÔ SÔ¨¦ GÊxP. 

4. What is material control? 

 ‰»¨ö£õ¸Ò Pmk¨£õk GßÓõÀ GßÚ? 

5. Write a note on ‘Piece rate system’. 

 xsk Ãu Aø©¨¤ß £ØÔ SÔ¨¦ GÊxP. 

6. What is normal idle time? 

 \õuõμn ö\¯»ØÓ ÷|μ® GßÓõÀ GßÚ? 

Sub. Code 
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7. Explain the meaning of ‘Labour Hour Rate’. 

 EøÇ¨¦ ÷|μ Ãu® ö£õ¸Ò ÂÁ›. 

8. What are the reasons for under and over absorption of 
overheads? 

 ÷©À{ø» ö\»ÄPÎß RÌ ©ØÖ® ÷©À Dº¨£ø©¨¤ØPõÚ 
Põμn[PÒ GßöÚßÚ? 

9. What are ‘Joint Products’? 

 Cøn ö£õ¸mPÒ GßöÚßÚ? 

10. Write a note on job costing. 

 ÷Áø» PnUQ¯À SÔ¨¦ GÊxP. 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the objectives of cost accounting? 

   AhUPÂø»U PnUQku¼ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) What are the advantages of cost accounting to the 
employees?  

   FÈ¯ºPÐUS AhUPÂø» PnURmiß £¯ßPÒ 
¯õøÁ? 

12. (a) The annual average assumption of material:  
20,000 kg at a price of Rs. 2 per kg. The storage cost 
is 16% on average inventory. The cost of placing one 
order is Rs. 50. How much is to be purchased at a 
time? 

   ‰»¨ö£õ¸Îß Bsiß \μõ\› £¯ß£õk: 20,000 
Q÷»õQμõ®, ¹. 2/Q÷»õQμõ®. ÷\ª¨¦ ö\»Ä 16% 
\μõ\› \μUQÀ BønUPõÚ öPõÒ•uÀ ¹. 50. 
öPõkUP¨£mhøu øÁzx GÆÁÍÄ öPõÒ•uÀ 
ö\´¯ ÷Ásk® Gß£uøÚ PnUQkP. 

Or 
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 (b) The following particulars of material X. prepare 
ledger account showing receipts and issues, pricing 
of materials issued on the basis of simple average 
method 

  Receipts: 

  3rd Oct. purchased 500 units @ Rs. 4 per unit 

  13th Oct. Purchased 900 units @ Rs. 4.30 per unit 

  23rd Oct. Purchased 600 units @ Rs. 3.80 per unit 

  Issues: 

  5th Oct-issued 400 units 

  15th Oct - issued 400 units 

  25th Oct - issued 600 units 

   ‰»¨ö£õ¸Ò X ß, Â£μ[PÒ R÷Ç 
öPõkUP¨£mkÒÍÚ. öPõÒ•uÀ ©ØÖ® ÁÇ[Rk 
öuõhº£õÚ |hÁiUøPPøÍ öPõsk £shP ÷£÷μk 
PnUøP Tmk \μõ\› ©øÓ°À PnUQk. 

   öPõÒ•uÀ: 

   3 & AU÷hõ£º & öPõÒ•uÀ 500 A»SPÒ @ 
¹.4/A»SPÒ (J¸ A»S Ãu®) 

   13&AU÷hõ£º & öPõÒ•uÀ 900 A»SPÒ @ ¹. 
4.30/A»S 

   23 & AU÷hõ£º & öPõÒ•uÀ 600 A»SPÒ @ ¹. 
3.80/A»S 

   ÁÇ[Rk: 

   5& AU÷hõ£º & ÁÇ[Rk & 400 A»SPÒ 

   15& AU÷hõ£º & ÁÇ[Rk & 400 A»SPÒ 

   25& AU÷hõ£º & ÁÇ[Rk & 600 A»SPÒ 
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13. (a) Calculate the earnings of a worker under Rowan 
plan.  

  Time allowed – 48 hours 

  Time taken – 40hours 

  Rate per hour – Rs. 10 

   öuõÈ»õÎ°ß ö©õzu Á¸©õÚzøu ÷μõÁõß vmhz 
vsn ‰»® PnUQkP. 

  AÝ©vUP¨£mh ÷|μ® & 48 ©oPÒ 

  GkzxU öPõsh ÷|μ® & 40 ©oPÒ 

  J¸ ©o÷|μzvØS T¼ – ¹.10 

Or 

 (b) Standard time alloted for a Job is 20 hours and the 
rate per hour is Rs. 2 plus a dearness allowance  
@ Rs. 50 paise per hour worked. the actual time 
taken by a worker is 15 hours. Calculate earnings 
under 

  (i) Halsey plan 

  (ii) Rowan scheme 

   J¸ ÷Áø»US \μõ\›¯õP JxUP¨£mh ÷|μ® 20 ©o 
÷|μ®, J¸ ©o ÷|μzxUS ¹. 2 ©ØÖ® 
APÂø»¨£i @ ¹.50 (50 ø£\õ) J¸ ©o ÷|μ 
÷Áø» £õºzuuØS, öuõÈ»õÎ ÷Áø»ø¯ •iUP 
GkzxU öPõsh ÷|μ® 15 ©o÷|μ® öuõÈ»õÎ°ß 
ö©õzu Á¸©õÚzøu 

  (i)  ÷íõÀ] vmh® 

  (ii) ÷μõÁõß vmhz vsn ‰»® PnUQkP. 

14. (a) Classify overhead expenses according to its 
variability. 

   ÷©Øaö\»ÄPøÍ Auß {ø»ø¯ øÁzx ÁøPPÒ 
£ØÔ GÊx. 

Or 
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 (b) Calculate machine hour rate from the following 
data: Cost of machine Rs. 15,000, estimated life 
10,000 hours. Running time per month 160 hours. 
Average cost of repairs and maintenance per month 
Rs. 120. Standing charges allocated to the machine 
per month Rs. 40. Power used by the machine 4 
units per hour at a cost of 5 paise per unit. 

   ¤ßÁ¸® Â£μ[PÒ öPõsk C¯¢vμ ©o ÷|μ 
ÂQu® PnUQkP. C¯¢vμzvß AhUP® ¹. 15,000 
PoUP¨£mh B²Ò 10,000 ©o ÷|μ® J¸ ©õuzvß 
C¯UP® Põ»® 160 ©oPÒ, ©õuõ¢vμ \μõ\› 
£Êx£õº¨¦ ©ØÖ® £μõ©›¨¦U Pmhn[PÒ ¹.120 
CÆÂ¯¢vμzvØS JxUQ¯ ©õuõ¢vμ {ø»a 
ö\»ÄPÒ ¹. 40 CÆÂ¯¢vμ® £¯ß£kzv¯ \Uv 
J¸ ©o ÷|μzvØS 4 A»SPÒ J¸ A»QØS 5 
ø£\õ Pmhn ÂQuzvÀ 

15. (a) Prepare process A accounts. During the week ended 
25th February 2016. 1000 units are produced. Direct 
materials Rs. 4,500. Overhead expenses Rs. 1,000; 
Direct labour Rs. 3,500. 

   ö\´•øÓ A PnUQøÚ u¯õ›UPÄ®, ¤¨μÁ› 25, 
2016 & Ehß •iÁøh²® ÁõμzvØPõÚ EØ£zv 
1,000 A»SPÒ. ÷|μi ‰»¨ö£õ¸Ò ¹. 4,500 
÷©Øö\»ÄPÒ ¹. 1,000 ÷|μi EøÇ¨¦ ¹. 3,500. 

Or 

 (b) Explain the merits and demerits of Job Costing. 

   ÷Áø» AhUPÂø» PnUQ¯¼ß |ßø©PÒ ©ØÖ® 
wø©PøÍ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the functions of cost accounting. 

 AhUPÂø»°ß PnUQß ö\¯À£õkPÒ ÂÍUSP. 
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17. From the following particulars prepare store ledger using 
LIFO (Last In First Out method). The month of December 
– 2016, the following transactions 

December 1 Stock in hand 500 units @ Rs. 20 

 2 Issued 200 units 

 3 Purchased 150 units @ Rs. 22 

 4 Issued 100 units 

 5 Purchased 200 units @ Rs. 25 

 6  Issued 300 units 

 6 Returned to store 10 units (issued on 4th Oct)

 7 Issued 100 units 

 8 Issued 50 units 

 On 10th , it was noticed that there is a shortage of  
10 units. 

RÌPõq® Â£μ[PøÍ öPõsk £shP ÷£÷μk PnUS 
LIFO (Last in First Out) •øÓ°øÚ PnUQkP. i\®£º 
2016&À RÌPõq® Â£μ[PøÍU Põn»õ®. 

i\®£º 1 £shP C¸¨¦ & 500 A»SPÒ ¹. 20 J¸ A»S 
Ãu® 

 2 ÁÇ[Rk 200 A»SPÒ 

 3 öPõÒ•uÀ 150 A»SPÒ @ ¹. 22 Ãu® 

 4 ÁÇ[Rk 100 A»SPÒ 

 5 öPõÒ•uÀ 200 A»SPÒ ¹. 25 Ãu® 

 6  ÁÇ[Rk 300 A»SPÒ 

 6 v¸¨¤ öPõkUP¨£mhøÁ (10 A»SPÒ, i\®£º 
4® ÷uv ÁÇ[Q¯x) 

 7 ÁÇ[Rk 100 A»SPÒ 

 8 ÁÇ[Rk 50 A»SPÒ 

10 B® ÷uv PnURmiß £i, 10 A»SPÒ SøÓÁõP 
C¸¢uÚ.  



F–8915 

  

  7

18. A worker complete a job in certain number of hours. The 
standard time allowed for the job is 10 hours and the 
hourly rate of wages is Rs. 1. The worker earns at 50% 
rate a bonus of Rs. 2 under Halsey plan. Find his 
earnings under rowan plan. 

J¸ öuõÈ»õÎ J¸ ÷Áø»ø¯ J¸ |õÒ Ãu®, RÌUPõq® 
Â£μ[PÒ Á¸©õÖ® \μõ\› ÷|μ® J¸ ÷Áø»US 10 ©o 
÷|μ® ©ØÖ® J¸ ©o ÷|μzvØS ¹. 1, öuõÈ»õÎ, 50% 
(÷£õÚì) AÀ»x ¹. 2 ÷íõÀ] vmhzvÀ ÷\º£Áº. 
öuõÈ»õÎß ö©õzu Á¸©õÚ® ÷μõÁõß vmhzv¼¸¢x 
PnUQkP. 

19. Discuss the methods of selling and distribution 
overheads. 

 ÂØ£øÚ ©ØÖ® £Qº¢x AÎzu¼À ÷©À{ø»a 
ö\»ÄPÎß •øÓPøÍ ÂÁõv. 

20. The following expenditure is incurred for production 
articles.  

 Rs. 

Materials (200 units) 4,000 

Labour 3,000 

Indirect expenses 2,000 

 Normal wastage is 5% of the input one unit of wastage is 
sold at Rs. 16.50 each. Prepare process account.  

RÌPõq® ö\»ÄPÒ J¸ ö£õ¸Ò u¯õ›UP BÚøÁ 

 ¹. 

‰»¨ö£õ¸ÒPÒ (200 A»SPÒ) 4,000 
EøÇ¨¦ 3,000 
©øÓ•Pa ö\»Ä 2,000 

 C¯À£õÚ PÈÄ 5% ÂØ£øÚ J¸ A»QØS ¹. 16.50, 
£i{ø» PnUQhÄ®. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is meant by Free Consent?  
C»Á\ J¨¦uÀ GßÓõÀ GßÚ? 

2. What do you mean by Consideration? 
©Ö£¯ß Gß£uß ö£õ¸Ò GßÚ? 

3. What is Contract of Guarantee? 
EzuμÁõu J¨£¢u® GßÓõÀ GßÚ? 

4. What is a Contract of Indemnity? 
CÇ¨¥k J¨£¢u® GßÓõÀ GßÚ? 

5. What is a Pledge? 
EÖvö©õÈ GßÓõÀ GßÚ? 

6. Who is a bailor? 
¤øn Gk¨£Áº Gß£Áº ¯õº? 

7. Who is an agent? 
•PÁº Gß£Áº ¯õº? 

Sub. Code 
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8. What do you know about ratification. 
\›ö\´uÀ £ØÔ }Âº AÔÁx GßÚ? 

9. What is meant by agreement to sell? 
J¨£¢u ÂØ£øÚ GßÓõÀ GßÚ? 

10. What is meant by a Warranty? 
EzuμÁõu® GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the essential elements of a valid contract? 
   ö\À¾£i¯õS® J¨£¢uzvß Azv¯õÁ]¯ TÖPÒ 

¯õøÁ? 

Or 

 (b) Distinguish between an unlawful Agreement and 
Illegal Agreement. 

   J¸ \mh •Ê Ehß£iUøP ©ØÖ® \mhÂ÷μõu 
J¨£¢uzøu ÷ÁÖ£kzxP. 

12. (a) What are the essential features of a Contract of 
Guarantee. 

   EzuμÁõu J¨£¢uzvß •UQ¯©õÚ ]Ó¨¤¯À¦PÒ 
¯õøÁ? 

Or 

 (b) Write a short notes on right of Subrogation.  
   xμv¸èhÁ\©õÚ E›ø©¨ £ØÔ ]Ö SÔ¨¦ GÊxP. 

13. (a) What are the duties of bailor? 
   ¤øn Gk¨£Á›ß Phø©PÒ ¯õøÁ? 

Or 

 (b) Distinguish between Sale and bailment? 
   ÂØ£øÚ ©ØÖ® ¤ønUS® EÒÍ ÷ÁÖ£õkPÒ 

¯õøÁ? 
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14. (a) What are the essentials of an agency? 

   J¸ Höáß]°ß Azv¯õÁ]¯[PÒ ¯õøÁ? 

Or 

 (b) Bring out the essentials of a Valid ratification of 
agency. 

   Höáß]°ß ö\À¾£i¯õS® J¨¦u¼ß 
Azv¯õÁ]¯[PÒ £ØÔ GÊxP. 

15. (a) Discuss the rules relating to delivery of goods. 

   ö£õ¸mPøÍ ÁÇ[SÁx öuõhº£õÚ ÂvPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

Or 

 (b) Distinguish between condition and warranty. 

  {£¢uøÚUS® EzuμÁõuzvØS® Cøh÷¯ EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the different types of Contract. 

J¨£¢u[PÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

17. What is a contract of indemnity? What are the salient 
features of a Contract of indemnity? 

CÇ¨¥mk J¨£¢u® GßÓõÀ GßÚ? CÇ¨¥mk 
J¨£¢uzvß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

18. Explain the rights and duties of a pawnee. 

AhS øÁ¨£Á›ß E›ø©PÒ ©ØÖ® Phø©PøÍ ÂÍUSP. 

19. Discuss the essentials of valid ratification. 

¤ß÷ÚØ¦ ö\´u¼ß •UQ¯ ÷uøÁPøÍ ÂÁõvUP. 

20. Explain briefly the rights of unpaid seller.  

ö\¾zu¨£hõu ÂØ£øÚ¯õÍ›ß E›ø©PøÍ ÂÍUSP. 
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Income. 

 Á¸©õÚzøu Áøμ¯ÖUPÄ®. 

2. Give the meaning of tax. 

 Á›°ß ö£õ¸øÍ öPõkUPÄ®. 

3. What is capital receipt? 

 ‰»uÚ μ^x GßÓõÀ GßÚ? 

4. Who is resident? 

 Si©Pß ¯õº? 

5. Define perquisite under IT Act. 

 IT \mhzvß RÌ ÷uøÁ¯õÚÁØøÓ Áøμ¯ÖUPÄ®. 

6. What is transferred balance? 

 \©{ø» ©õØÓ¨£mhx GßÚ? 

Sub. Code 
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7. What do you mean by profession? 

 öuõÈÀ GßÓõÀ GßÚ? 

8. What do you mean by admissible expenses? 

 HØÖU öPõÒÍUTi¯ ö\»ÄPÒ GßÓõÀ GßÚ? 

9. What do you mean by long term capital assess? 

 }sh Põ» ‰»uÚ ö\õzxPÒ Gß£uß ö£õ¸Ò ¯õx? 

10. Write the meaning of capital gains. 

 ‰»uÚ C»õ£® Gß£uß ö£õ¸øÍ GÊxP. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the objectives of taxation. 

   Á› Âv¨¤ß ÷|õUP[PøÍ SÔ¨¤hÄ®. 

Or 

 (b) Write a note on historical background of Income tax. 

   Á¸©õÚ Á›°ß Áμ»õØÖ ¤ßÚo°À SÔ¨¦ 
GÊuÄ®. 

12. (a) Which are basic agricultural operations to be 
carried out to call as agricultural income? 

   ÂÁ\õ¯ Á¸Áõø¯ AøÇ¨£uØS ÷©ØöPõÒÍ¨£h 
÷Ási¯ Ai¨£øh ÂÁ\õ¯ |hÁiUøPPÒ ¯õøÁ? 

Or 

 (b) Give distinations between capital and revenue 
expenditure.   

   ‰»uÚ® ©ØÖ® Á¸Áõ´ ö\»ÂÚ[PÐUS 
Cøh°»õÚ ÷ÁÖ£õmøhz u¸P. 
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13. (a) Mr. A is employed in a private company in Salem. 
They are particulars of income for the PY 2021 – 
2022 are given below : 

   (i) Basic salary Rs. 60,000 

   (ii) Dearness allowance Rs. 5,000 

   (iii) Commission Rs. 6,000 find the Mr. A’s income 
from salary. 

   v¸. ‘A’ Gß£Áº ÷\»zvÀ EÒÍ J¸ uÛ¯õº 
{ÖÁÚzvÀ £o ¦›QÓõº. •¢øuø¯ Bsk 2021–
2022 US AÁ¸øh¯ Á¸©õÚ ÂÁμ[PÒ R÷Ç 
öPõkUP¨£mkÒÍÚ. (i) Ai¨£øh \®£Í® ¹. 60,000 
(ii) APÂø»¨£i ¹. 5,000 (iii) PÈÄ ¹. 6,000  
v¸. ‘A’ °ß \®£Í Á¸©õÚzøu PnUQkP. 

Or 

 (b) Calculate taxable HRA from the following : 

   Salary Rs. 12,000 p.m.; D.A. @ 20% of salary; 

   HRA Rs. 800 p.m. Rent paid for the house Rs. 1,000 
p.m. (house in Trichy) 

   RÌPshÁØÔ¼¸¢x Á›US Em£mh ©ØÖ® 
Á›Â»US ö£ØÓ HRA PnUQkP. 

    \®£Í® ©õu® ¹. 12,000; APÂø»¨£i @ 20% 

    \®£Ízvß ©v¨¤À ¹. 800  Ãmk ÁõhøP¨£i 
©õu® ¹. 1,000; (Ãk v¸a]°À EÒÍx) 

14. (a) A firm’s stock of goods valued on 1.4.2021 at  
Rs. 2,50,000 at 20% below the cost. Calculate the 
amount of under valuation of stock. 

   Jº {ÖÁÚzvß 1.4.2021 AßÖ \μUQ¸¨¤ß ©v¨¦ 
¹. 2,50,000 US SøÓÁõP AhUPÂø»°À 20% 
BS®. \μUQ¸¨¦ ©v¨¦ SøÓ¨ø£U PnUQkP. 

Or 
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 (b) From the following information, compute the 
business income of Mr. Mukesh. 

   (i) Staff salary Rs. 50,000 

   (ii) Sales Rs. 1,50,000 

   (iii) Commission on sales Rs. 4,000 

   (iv) Rent Rs. 10,000 

   (v) Bad debts recovered (earlier allowed) Rs. 20,000 

   (vi) Dividend net Rs. 40,000 

   ¤ßÁ¸® uPÁÀPøÍU öPõsk v¸. •÷Pè 
Gß£Á›ß ÁoP Buõ¯® PnUQkP. 

   (i) £o¯õÍº \®£Í® ¹. 50,000 

   (ii) ÂØ£øÚ  ¹. 1,50,000 

   (iii) ÂØ£øÚ PÈÄ ¹. 4,000 

   (iv) ÁõhøP ¹. 10,000 

   (v) ÁμõUPhß v¸®£ ö£ÖuÀ (•ßTi¯ 

AÝ©vzuÀ) ¹. 20,000 

   (vi) £[Puõ¯® ({Pμ) ¹. 40,000 

15. (a) Mr. X purchased a furniture for Rs. 5,00,000 on  
1st January 2018. The furniture was sold for  
Rs. 5,50,000. On 1st January 2022. The expenses on 
sale were Rs. 25,000. Compute the capital gains. 

   v¸. X AøÓP»Ûß JßøÓ ¹. 5,00,000 US 2018,  
1 áÚÁ›, AßÖ Áõ[QÚõº. Auß AøÓP»ß  

¹. 5,50,000 US 2022, 1 áÚÁ› AßÖ ÂØÓõº. 

ÂØ£øÚ «uõÚ ö\»Ä ¹. 25,000 BS®. ‰»uÚ 
C»õ£zøuU PnUQkP. 

Or 
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 (b) State whether the following are short term (or) long 
term capital assets, if the assessee sells them on 
1.2.2022. 

   (i) Government securities acquires on 1.4.2017 

   (ii) Debentures of a company  purchases on 
1.11.2015 

   (iii) Listes shares of a company purchased on 
1.9.2015. 

   (iv) Diamonds acquired on 1.11.2015 

   (v) House property acquired on 1.10.2013. 

   ©v¨¥mhõÍº 1.2.2022 CÀ AÁØøÓ ÂØÓõÀ, 
¤ßÁ¸£øÁ SÖQ¯ Põ» AÀ»x }sh Põ» ‰»uÚ 
ö\õzxUPÒ Gß£øu SÔ¨¤hÄ®. 

   (i) 1.4.2017 AßÖ ö£Ó¨£mh Aμ_¨ £zvμ[PÒ 

   (ii) 1.11.2015 CÀ Áõ[Q¯ E[PÒ {ÖÁÚzvß 
Phß £zvμ[PÒ 

   (iii) 1.9.2015CÀ Áõ[Q¯ E[PÒ {ÖÁÚzvß 
£mi¯¼h¨£mh £[SPÒ. 

   (iv) 1.11.2015 AßÖ Áõ[Q¯ øÁμ[PÒ 

   (v) 1.10.2013 AßÖ Áõ[Q¯ Ãk 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the concept of ‘Income’ and give its features. 

 Á¸Áõ°ß P¸zøu ÂÍUQ ©ØÖ® Auß A®\[PøÍ 
ÂÍUSP.  

17. What is allowance? Explain the different types of 
allowances. 

£i GßÓõÀ GßÚ? £i°ß ÁøPPøÍ ÂÍUSP. 



F–8917 

  

  6

18. Compute salary income of Mr. Abdulla from the  

following : 

 (a) Salary received (after deduction of income tax and 

RPF) Rs. 1,00,000 

 (b) Income tax paid Rs. 10,000 

 (c) RPF deduction Rs. 12,000 

 (d) D.A. at 20% of salary 

 (e) Bonus Rs. 15,000 

 (f) Leave salary Rs. 13,000 

 (g) House Rent allowance Rs. 1,000 p.m. 

   (The rent paid tax house in Chennai Rs. 1,300 p.m.)  

 v¸. A¨xÀ»õ Gß£Á›ß \®£Í Á¸©õÚzøu RÌPsh 

ÂÁμ[PÎ¼¸¢x PnUQkP. 

 (A) \®£Í® ö£ØÓx (Á¸©õÚ Á› ©ØÖ® RPF ÷£õP)  

¹. 1,00,000 

 (B) Á¸©õÚ Á› AÎ¨¦ ¹. 10,000 

 (C) RPF ¹. 12,000 

 (D) APÂø»¨£i \®£ÍzvÀ 20% 

 (E) ÷£õÚì ¹. 15,000 

 (F) Âk•øÓ \®£Í® ¹. 13,000 

 (G) Ãmk ÁõhøP¨£i ¹. 1,000 ©õu® 

   (ö\ßøÚ°¾ÒÍ ÁõhøP ÃmiØPõP öPõkUP 

ÁõhøP 1,300 ©õu®)  
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19. Compute the business income of the following : 

 Dr.                              Profit and Loss A/c    Cr 
Particular Rs. Particular   Rs.  

To General expenses 10,000 By Gross profit 1,00,000

To salary to staff 12,000 By Commission 10,000

To purchase typewriter 10,000 By Rent received 50,000

To Advertisement (in cash) 25,000  

To Interest on capital 3,000  

To Net profit  1,00,000  

 1,60,000  1,60,000

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x ÁoPzvß Buõ¯zøu 
PnUQkP. C»õ£® ©ØÖ® |mh PnUS. 

£ØÖ ¹. ÁμÄ ¹. 

ö£õxa ö\»Ä 10,000 ö©õzu C»õ£®1,00,000

\®£Í® 12,000 PÈÄ 10,000

umha_ C¯¢vμ® Áõ[Q¯x 10,000 ÁõhøP 50,000

ÂÍ®£μ® (öμõUP®) 25,000  

•uÀ «x Ámi 3,000  

{Pμ C»õ£® 1,00,000  

 1,60,000  1,60,000

20. Mrs. S. Krishna received a gefit of house  in Nov. 2007 
from Mr. K. Ramu who had purchased it in Nov. 1997 tax 
Rs. 6,30,000. Mr. K. Ramu renovated the house in March 
1998 at a cost Rs. 2,70,000. Its FMV on 1.4.2001 was  
Rs. 10,00,000.  

 In 1998 – 99 Mr. Ramu had agreed to sell the house and 
had received Rs. 1,00,000 as advance money. The sale 
could not materialize and advance money was forfeited. 
The house was further renovated in 2010 – 2011 (CII = 
167) at a cost of Rs. 2,00,000. 
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 Mr. Krishna sold the house in Dec. 2021 for Rs. 35,60,000 
and paid Rs. 60,000 as brokerage. 

 Compute his taxable gain if CII for 2001 – 2002 was 100; 
2007 – 2008 was 129; for 2021 – 2022 it is 317. 

1997 |Á®£›À ¹. 6,30,000 US Áõ[Q¯ v¸. μõ• Âh® 
C¸¢x 2007 |Á®£›À v¸©v. Q¸ènõ J¸ Ãk £›ø\¨ 
ö£ØÓõº. A¢u Ãmøh v¸. μõ• ©õºa 1998 CÀ ¹. 
2,70,000 ö\»ÂÀ Ãmøh¨ ¦x¨¤zuõº. 1.4.2001 AßÖ 
\¢øu ©v¨¦ ¹. 10,00,000. 

1998 – 99 CÀ v¸. μõ• Ãmøh ÂØP J¨¦U öPõshº 
©ØÖ® ÷©®£mh £n©õP ¹. 1,00,000. ÂØ£øÚø¯ 
ö\¯À£kzu •i¯ÂÀø» ©ØÖ® ÷©®£mh £n® 
CÇUP¨£mhx. 2010 – 11 À (A.£õ.S = 167) ¹. 2,00,000 
ö\»ÂÀ Ãk ÷©¾® ¦x¨¤UP¨£mhx. v¸©v. Q¸ènõ 
Ãmøh i\®£º 2021 À ¹.  35,60,000 ÂØ£øÚ ö\´uõº 
AuØS  uμÄ ¹. 60,000 ÁÇ[P¨£mhx. 

AÁμx Á›US›¯ ‰»uÚ Buõ¯zøu PnUQkP.  
(A.£õ.S 2001 – 2002 = 100;  2007 – 2008 = 129;   
2021 – 2022 – 317)  

 
——————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Give the meaning of non-banking assets. 

 Á[Q AÀ»õu ö\õzxPÎß ö£õ¸øÍ TÖP. 

2. What is endorsement? 

 ÷©À GÊxuÀ GßÓõÀ GßÚ? 

3. What do you understand by Surrender value? 

 Âk©v¨¦ GßÓõÀ GßÚ? 

4. What is claims by maturity? 

 •vºa]¯õÀ ÷Põ›UøPPÒ GßÓõÀ GßÚ? 

5. Write a note on Net Revenue Account. 

 {Pμ Á¸Áõ´ PnUQÀ SÔ¨¦ GÊuÄ®. 

6. What do you mean by capital reserve? 

 ‰»uÚ C¸¨¦ GßÖ }[PÒ GßÚ ö\õÀQÕºPÒ? 

Sub. Code 
7BCO6C1 
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7. Define a holding companies. 
 ¤i¨¦ {Ö©® Áøμ¯Ö. 

8. What is cost control? 
 AhUP Âø» Pmk¨£õk GßÓõÀ GßÚ? 

9. What is meant by voyage account? 
 PhØ£¯n PnUøP £ØÔ AÔÁx GßÚ? 

10. What is firm account? 
 ÂÁ\õ¯ £søn PnUS GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) On 31st march 2018 the loan account in the books of 
a bank showed a debit balance of Rs.2,00,000 
including Rs.4,00,000 due from a merchant which is 
doubtful. The interest accrued on this loan upto 
31.3.2018 was Rs.10,000 including Rs.2,000 on 
doubtful debts. The merchant became insolvent and 
the official receiver paid a dividend on 25 paise in 
the rupee on 30.4.2018. Pass necessary journal 
entries in the books of the bank on 31.3.2017 and 
30.4.2018 and prepare the loan account.   

   31 ©õºa 2018 AßÖ Á[Q°ß ¦zuP[PÎÀ EÒÍ 
Phß ¦zuP[PÎß EÒÍ Phß PnUS ÁoP›h® 
C¸¢x ö\¾zu ÷Ási¯ ¹.4,00,000 Em£h 
2,00,000 £ØÖ C¸¨¦ Põmi¯x \¢÷uPzvØS›¯x. 
31.3.2018 Áøμ°»õÚ C¢uU PhÛß «uõÚ Ámi 
¹.10,000. \¢÷uPzvØQh©õÚ PhßPÐUS ¹.2,000 
Em£h Â¯õ£õ› vÁõ»õÚ {v AvPõ›US 31.4.2008 
AßÖ J¸ ¹£õ°À 25 ø£\õ DÄU öuõøP 
ö\¾zvÚõº. 31.3.2017 ©ØÖ® 31.4.2018 BQ¯ 
÷uvPÎÀ Á[Q°ß ¦zuP[PÎÀ ÷uøÁ¯õÚ 
SÔ¨÷£mk ©ØÖ® Phß PnUøP u¯õº ö\´¯Ä®. 

Or 
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 (b) State the disadvantages of the slip system of 
posting. 

   CkUøP°k® ^mk Aø©¨¤ß |ßø©PøÍU 
SÔ¨¤hÄ®. 

12. (a) The life assurance fund on MLA life. Assurance 
corporation a balance of Rs.9,50,000 at the end of 
31.3.2021 before considering the following. 

(i) Bonus utilized in reduction on premium 
Rs.98,000 

(ii) Outstanding premium Rs. 2,20,000 

(iii) Interest accured on investments less income 
large Rs.54,000 

(iv) Claim intimated but not yet admitted Rs.5,000 

(v) Claims covered under reinsurance Rs.15,000 

Compute the balance of life assurance fund. 

   MLA B²Ò Põ¨¥mk {ÖÁÚzvß 31.3.2021 Bsk 
•iÂÀ R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PøÍ 
Gkzxa öPõÒÍõ©À B²Ò Põ¨¥mk {v ¹.9,50,000 
EÒÍx. 

   (i) •øÚ©zøu SøÓ¨£uØPõP ÷£õÚì 
E£÷¯õQUP¨£mhx 98,000 

   (ii) ö£Ó¨£h ÷Ási¯ •øÚ©® 2,20,000  

  (iii) •u½miÀ HØ£mh Ámi Á¸©õÚ Á› 
PÈUP¨£mhx ¹.54,000 

  (iv) ÷Põ›UøPPÒ öu›ÂUP¨£mhx BÚõÀ 
CxÁøμ HØP¨£hÂÀø» ¹.5,000 

  (v) ©ÖPõ¨¥miß RÌ EÒÍ ÷Põ›UøP ¹.15,000  

   B²Ò Põ¨¥mk {vø¯ PnUQkP.  

Or 
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 (b) State the reinsurance helpful to insurance 
companies.  

   Põ¨¥mk {ÖÁÚzvØS ©ÖPõ¨¥k EuÂ¯õP 
C¸¨£øu SÔ¨¤hÄ®. 

13. (a) Distinguish between single accounting system and 
double accounting system. 

   JØøÓ PnUQ¯À Aø©¨¦ ©ØÖ® Cμmøh 
PnUQ¯À Aø©¨¦ Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ 
¯õøÁ? 

Or 

 (b) The Southern Railways built a station 20 years ago 
at cost of Rs. 1,00,000 owing to increase in the cost 
of labour and materials, a similar station would how 
cost Rs. 1,20,000. The Station, having proved 
inadequate for the increased traffic, is rebuilt at a 
cost Rs.2,00,000 old materials to the value of 
Rs.64,000 are utilised in the new construction and 
included in the above cost. Balanced old material 
cost Rs.66,000 was sold. Apportion the new 
expenditure between capital and revenue. 

   öußÚP Cμ°À÷Á 20 BskPÐUS •ß {ø»¯® 
JßøÓ ¹.1,00,000 ö\»ÂÀ Pmi¯x. uØ÷£õx A¢u 
{ø»¯zøu Pmh BS® ö\»Ä ¹.1,20,000. uØ÷£õx 
EÒÍ ö£¸Q¯ ö|›\¼À A¢u {ø»¯® 
÷£õx©õÚuõP CÀ»õu PõμnzvÚõÀ. A¢u {ø»¯® 
¹.2,00,000 ö\»Ähß ¦x¨¤UP¨£mhx. £øÇ¯ 
E£› £õP[PÒ ¹.64,000 ©v¨¤»õÚøÁ C¢u ¦v¯ 
{ø»¯zvØS E£÷¯õP¨£kzuÚ. A¢u öuõøP 
ö©õzu ö\»Ähß ÷\ºUP¨£mkÒÍx. «u•ÒÍ 
£øÇ¯ E£Pμn[PÒ ¹.66,000 ÂØP¨£mhÚ. ö©õzu 
¦v¯ ö\»øÁ •u½k ö\»Ä ©ØÖ® Á¸Áõ´ ö\»Ä 
GÆÁÍÄ GßÖ ¤›zx PõmkP. 
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14. (a) Prepare a consolidated balance sheet from the 

following. 

Balance Sheet 

Liabilities K Ltd  M Ltd Assets K Ltd M Ltd

Capital Rs.1 share 1,400  1,000 Sundry assets 885 1,510

Creditors 350  190 Shares in M Ltd 

P&L a/c 260  320 900 shares at cost 1,125 –

 2,010  1,510  2,010 1,510

  On the date of acquisition of shares by K Ltd in  

M Ltd, the credit balance on letter’s P&L a/c was 

Rs. 220. No dividends have been declared. 

   RÌPsh C¸¨¦{ø»U SÔ¨¦PÎ¼¸¢x 
J¸[Qøn¢u C¸¨¦{ø»U SÔ¨ø£ u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ K Ltd  M Ltd ö\õzxPÒ K Ltd M Ltd

£[S ¹.1 1,400  1,000 £»ÁøP ö\õzxPÒ 885 1,510

PhÜ¢÷uõº 350  190 M {Ö©zvß  

C»õ£ |mh PnUS 260  320 900 £[SPÒ 1,125 –

 2,010  1,510  2,010 1,510

  M &À K Ltd £[SPøÍ øP¯P¨£kzx® ÷uv°À 

¼ªöhm, Piuzvß P&L a/c «uõÚ Phß C¸¨¦ 

¹.220 DÄzöuõøP GxÄ® AÔÂUP¨£hÂÀø». 

Or 

 (b) What are their advantages and disadvantages of 

holding companies? 

   ¤i¨¦ {Ö©zvß |ßø© ©ØÖ® SøÓ£õkPÒ 
¯õøÁ? 
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15. (a) Explain the importance of voyage account. 
   PhØ£¯n PnUQ¯À •øÓ°ß •UQ¯zxÁzøu 

ÂÁ›. 

Or 

 (b) On 1.1.2019 the ship sea walk started on voyage 
from madras to Singapore. It reached back madras 
on 15.3.2018. Translations are as follows. 

 Rs. 

Freight outward journey 85,900

Freight return journey 15,000

Port charges  45,100

Wages 14,500

Fuel 12,500

Brokerage 5,000

Insurance for ship  12,000 p.a.

Insurance for freight 2,500

  Prepare the voyage account. 
   1.1.2019 AßÖ ]ÁõU GÝ® P¨£»õÚx uÚx 

PhØ£¯nzøu ö©mμõê¼¸¢x ][P§¸US 
C¯UQ¯x Ax 15.3.2018 ö©mμõìUS v¸®¤¯x 
AuÝøh¯ |hÁiUøPPÒ ¤ßÁ¸©õÖ: 

 ¹. 

\zu® öÁÎ¨£¯nzvØS 85,900
\zu® v¸®£ Á¸®÷£õx 15,000
xøÓ•P Pmhn®  45,100
T¼ 14,500
G›ö£õ¸Ò 12,500
PÈÄ 5,000
JßÖUS P¨£¾UPõÚ Põ¨¥k 12,000 p.a.
\¢uzvØPõÚ Põ¨¥k 2,500

  PhØ£¯nU PnUøP u¯õ›UP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following ledger balances of ABC Bank limited, 
prepare the profit and loss account and balance sheet an 
on 31st march 2021. 

 Rs.  Rs. 

Share capital :  Depreciation on premises 22,000

12,500 equity shares of 
Rs.100 each 

12,50,000 Interest, discount and 
commission 2,45,000

Statutory Reserve 6,00,000 Cash in hand and with 
reserve bank of India 15,84,000

Current accounts and 
Deposit A/c 

 
77,32,000 

Money at call and short 
notice 

2,74,000

P&L Account (balance) 15,000 Bills discounted 3,79,000

Payment of Employee 74,000 Loans and advances 46,65,000

Interest paid 27,000  

Government Securities 6,00,000 Bank premises 4,18,000

Other securities 8,25,000 Non-banking assets 3,37,000

  Shares and stock 6,37,000

 ABC Á[Q ¼ªöhmiß ¤ßÁ¸® ÷£÷μmk C¸¨¤À 
C¸¢x C»õ£ |èh PnUS ©ØÖ® C¸¨¦{ø» SÔ¨ø£ 
31.3.2021 AßÖ u¯õ›UPÄ®. 

 ¹.  ¹. 

£[S •uÀ  ÁÍõPzvÀ ÷u´©õÚ® 22,000

12,500 u»õ 100 Ãu® 12,50,000 Ámi, uÒÐ£i ©ØÖ® 
PÈÄ 2,45,000

ö£õxPõ¨¦ 6,00,000 øP°À £n® ©ØÖ® RBI
15,84,000

|h¨¦ PnUS ©ØÖ® 
øÁ¨¦ PnUS 

 
77,32,000 

AøÇ¨¦ ©ØÖ® SÖQ¯ 
Põ» £n®  

2,74,000

P&L a/c (C¸¨¦) 15,000 ©õØÖa^mk 3,79,000

£o¯õÍº £n® 74,000 PhßPÒ 46,65,000

Ámi ö\¾zu¨£mhx 27,000  

Aμ_ £zvμ[PÒ 6,00,000 Á[Q ö\õzxPÒ 4,18,000

¤Ó £zvμ[PÒ 8,25,000 Á[Q AÀ»õu ö\õzx 3,37,000

  £[S 6,37,000
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17. Bring the format of Revenue Account (Form A-12A) profit 
and loss account (Form A-PL) and balance sheet (Form  
A-BS) as per part V in schedule A of Regulation III of life 
insurance banking with imaginary figures. 

PØ£øÚ ¦ÒÎ ÂÁμ[PÐhß B²Ò Põ¨¥mk ÁoPzvß 

JÊ[S•øÓ III Cß AmhÁøn A CÀ £Sv V Cß£i 

Á¸Áõ´ PnUS (£iÁ® A-12A), C»õ£ |mh PnUS 

(£iÁ® A-PL) ©ØÖ® C¸¨¦ {ø» £iÁ® (A-BS) 
BQ¯ÁØÔß ÁiÁzøu u¸P. 

18. Gupta Electricity company earned a profit of  
Rs. 33,97,000 after paying Rs. 1,20,000 @ 6% as 
debenture interest for the year ended march 31, 2019. 
The following further information is supplied to you. 

 Rs. 

Fixed assets 7,20,00,000

Depreciation written off 2,00,00,000

Loan from electricity board 1,60,00,000

Reserve fund investment at part (4%) 40,00,000

Tariff and Dividend control reserve 4,00,000

Contingency Reserve Investment at part (4%) 30,00,000

Security Deposits of customers 6,00,000

Customer’s contribution to assets 2,00,000

Preliminary expenses 1,60,000

Monthly average of current assets including amount due from 
customers Rs. 10,00,000 

30,40,000

Development Reserve 
10,00,000

 Show the disposal of the profits mentioned above. 
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 2019 ©õºa 31 B® ÷uv²hß •iÁøh¢u BsiØPõÚ 
PhßPÐUPõÚ ÁmiUS 6% Ãu® ¹.1,20,000 ¹£õ´ 
ö\¾zv S¨uõ ªß\õμ {ÖÁÚ® 33,97,000 ¹£õ´ C»õ£® 
Dmi¯x. ¤ßÁ¸® ÷©»vP uPÁÀPÒ E[PÐUS 
ÁÇ[P¨£kQßÓÚ. 

 ¹. 

{ø»¯õÚ ö\õzxUPÒ 7,20,00,000

÷u´©õÚ® 2,00,00,000

ªß\õμzv¼¸¢x Phß 1,60,00,000

C¸¨¦{v •u½k (4%) 40,00,000

£[Põuõ¯® Pmk¨£õmk C¸¨¦ 4,00,000

uØö\¯À C¸¨¦ •u½k (4%) 30,00,000

ÁõiUøP¯õÍºPÎß £õxPõ¨¦ øÁ¨¦ 6,00,000

ö\õzxPÐUS ÁõiUøP¯õÍºPÎß £[PÎ¨¦ 2,00,000

Bμ®£ ö\»ÄPÒ 1,60,000

ÁõiUøP¯õÍºPÎhª¸¢x ö\¾zu ÷Ási¯ öuõøP Em£h 

uØ÷£õøu¯ ö\õzxUPÎß ©õuõ¢vμ \μõ\› ¹. 10,00,000 30,40,000

ÁÍºa] C¸¨¦ 10,00,000

 ÷©÷» SÔ¨¤mkÒÍ C»õ£[PøÍ APØÖÁøu 
Põmk[PÒ. 

19. From the following balance sheet and information given 
below, prepare a consolidated balance sheet. 

Liabilities H Ltd  S Ltd Assets H Ltd S Ltd 

Share capital     Sundry assets 80,000 12,000

Rs.10 per share full 
paid 

1,00,000  20,000 Debtors 13,000 17,000

Reserves 10,000  6,000 Bills receivable 1,000 –

P&L A/c 40,000  12,000 Shares in S Ltd 

Creditors 20,000  12,000 1500 shares of Rs. 10 
each 

15,000 –

Bills payable –  3,000 Stock in trade 61,000 24,000

 1,70,000  53,000  1,70,000 53,0000



F–8918 

  

  10

Additional Information: 

(a) All the profits of S Ltd have been earned since the 

shares were acquired by H Ltd but the reserve of 

Rs.6,000 was already by there at the time. 

(b) Bills accepted by S Ltd are in favour H Ltd which 

was discounted for Rs.2,000. 

(c) Sundry assets of S Ltd are undervalued by Rs.2,000 

(d) The stock in trade to H Ltd includes Rs. 5,000 

bought from S Ltd at a profit to the latter as 25% on 

cost. 

 ¤ßÁ¸® C¸¨¦ {ø»U SÔ¨¦PÎ¼¸¢x öuõSUP¨£mh 

C¸¨¦{ø» SÔ¨¤øÚ u¯õº ö\´P. 

ö£õÖ¨¦PÒ H Ltd  S Ltd ö\õzxUPÒ H Ltd S Ltd 

£[S •uÀ    £ÀÁøP ö\õzxUPÒ 80,000 12,000

¹.10 Ãu® 

•ÊÁx® 

1,00,000  20,000 PhÚõÎPÒ 13,000 17,000

ö\¾zv¯ Põ¨¦ 10,000  6,000 ö£ ©õ/^ 1,000 –

C»õ£ |mh P/S 40,000  12,000 S Ltd À £[SPÒ 

PhÜ¢÷uõº 20,000  12,000 1500 £[SPÒ ¹.10 

Ãu® 

15,000 –

ö\ ©õ/^ –  3,000 \μUQ¸¨¦ 61,000 24,000

 1,70,000  53,000  1,70,000 53,0000
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 (A) S Ltd ß C»õ£® •ÊÁx®, H Ltd £[SPÒ Áõ[Q¯ 

¤ß \®£õvzx BÚõÀ Põ¨¦ ¹.6,000 H Ltd £[SPÒ 

Áõ[SÁuØ÷P •ß÷£ C¸¢ux. 

 (B) S Ltd ß ©õØÖa^mk •ÊÁx® H Ltd &PõP HØÖU 

öPõÒÍ¨£mhx. AvÀ ¹.2,000 ©v¨¤»õÚ 

©õØÖa^mk PÈÄ ö\´¯¨£mhx.  

 (C) S Ltd &ß £ÀÁøP ö\õzxPÒ ¹.2,000 ©v¨¦ 

SøÓ¢ux. {ºn¯® ö\´¯¨£mhx. 

 (D) H Ltd ß \μUQ¸¨¤À ¹.5,000 ©v¨¦ÒÍ S Ltd Ch® 

C¸¢x Áõ[P¨£mhx. AvÀ 25% AhUP Âø»°À 

C»õ£® {ºn¯® ö\´¯¨£mhx. 

20. From the following information, prepare “Crop Account” 

to find out the profit made by the crop section as the 

farm: 

 Rs.  Rs. 

Opening Stock    

 Grain 2,600 Wages in cash 1,000

 Seeds 600 Wages in kind giving grain 3,500

 Fertilizers 400 Sale of grain 2,500

Purchase   

 Seeds 400 Grain consumer by the properties 25,400

 Fertilizers 600 Grain consumers by livestock section 600

Closing stock  Depreciation on machinery 1,000

 Grain 2,000 Repairs on machinery 2,000

 Seeds 400  

 Fertilizers 600   
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x £°º ¤›Âß »õ£zøuU 
PshÔ¯ “£°º PnUS” Gß£øu u¯õº ö\´P. 

 ¹.  ¹.

öuõhUP \μUS    

 uõÛ¯® 2,600 T¼ öμõUP® 1,000

 ÂøuPÒ 600 uõÛ¯® öPõk¨£uß ‰»® 3,500

 Eμ® 400 uõÛ¯® ÂØ£øÚ 2,500

öPõÒ•uÀ   

 ÂøuPÒ 400 E›ø©¯õÍμõÀ ~Pμ¨£k® uõÛ¯® 25,400

 Eμ® 600 uõÛ¯[PÒ ~Pμ¨£k® PõÀ|øh ¤›Ä 600

CÖv \μUQ¸¨¦  ÷u´©õÚ® C¯¢vμ® 1,000

 uõÛ¯® 2,000 C¯¢vμ® £Êx £õºzux 2,000

 ÂøuPÒ 400  

 Eμ® 600   

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Management Accounting. 

 ÷©»õsø© PnUQ¯À Áøμ¯Ö. 

2. Give any two objective of management accounting. 

 ÷©»õsø© PnUQ¯¼ß H÷uÝ® Cμsk ÷|õUP[PÒ 
u¸P. 

3. Give the meaning of financial statement analysis. 

 {v\õº AÔUøP B´Âß ö£õ¸Ò u¸P. 

4. What is ratio analysis? 

 ÂQu £S¨£õ´Ä GßÓõÀ GßÚ? 

5. Define fund flow statement. 

 {v \mh AÔUøP & Áøμ¯Ö. 
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6. What is cash flow statement? 

 öμõUP |h©õmh AÔUøP GßÓõÀ  GßÚ? 

7. Define budgetary control. 

 vmh£mi¯À Pmk£õmk Áøμ¯Ö. 

8. Give the meaning of cash budget. 

 öμõUP vmh £mi¯À ö£õ¸Ò u¸P. 

9. Define marginal costing. 

 CÖv{ø» AhUPÂø» & ÁøμÂ»UPn® u¸P. 

10. What is Break even analysis? 

 C»õ£ |mh ©ØÓ {ø» £S¨£õ´Ä GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) State the advantages of management accounting. 

  ÷©»õsø©U PnUQ¯¼ß |ßø©PøÍU TÖP. 

Or 

 (b) What are the limitations of financial accounting? 

  {v PnUQ¯¼ß wø©PÒ ¯õøÁ? 

12. (a) Explain the uses of Ratio analysis. 

  ÂQu £S¨£õ´Âß |ßø©PøÍ ÂÁ›. 

Or 

 (b) From the following details, compute  

  (i) Current assets 

  (ii) Quick assets 

  (iii) Stock 
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Current liabilities Rs. 9,00,000

Current ratio 2.5

Acid test ratio 2

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 

(i) |h¨¦a ö\õzxUPÒ 

  (ii) vμÁ ö\õzxUPÒ ©ØÖ® 

  (iii) \μUQ¸¨¦ PnUQkP 
|h¨¦ ö£õÖ¨¦PÒ ¹. 9,00,000
|h¨¦ ÂQu® 2.5
vμÁ ÂQu® 2

13. (a) Prepare the schedule of changes in working capital 
from following balance sheet 

Liabilities 2012  2013 Assects 2012 2013 
Capital 80,000  1,00,000 Factory 60,000 75,000
Creditors 35,000  25,000 Debtors 40,000 35,000
Profit and 
loss a/c 

5,000  15,000 Stock 8,000 12,000

    Cash 12,000 18,000
 1,20,000  1,40,000  1,20,000 1,40,000

  |øh•øÓ •uÀ ©õØÓ AmhÁøn°øÚU 
PnUQkP. 

ö£õÖ¨¦PÒ 2012  2013 ö\õzxUPÒ 2012 2013 
•uÀ 80,000 1,00,000Bø» 60,000 75,000
PhÜ¢÷uõº 35,000 25,000PhÚõÎPÒ 40,000 35,000
»õ£®  
|mh P/S 

5,000 15,000C¸¨¦ 8,000 12,000

  öμõUP® 12,000 18,000

 1,20,000 1,40,000 1,20,000 1,40,000

Or 
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 (b) What is meant by cash flow statement? How does it 
differ from funds flow statement? 

  öμõUP Kmh AÔUøP°ß £¯ß ¯õx? Ax {v Kmh 
AÔUøP°À C¸¢x G[VÚ® ©õÖ£kQÓx? 

14. (a) What are the main steps in budgetary control? 

  ÁμÄ ö\»Ä vmhU Pmk¨£õmiß •UQ¯ £iPÒ 
¯õøÁ? 

Or 

 (b) Prepare production budget from the following data   

Product Opening  stock 
units 

Closing stock
units 

Sales 
units 

X 14,000 15,000 1,50,000

Y 5,000 14,000 1,00,000

Z 8,000 15,000 70,000 

  RÌPsh Â£μ[PøÍ öPõsk EØ£zv vmh® 
u¯õ›UP  

ö£õ¸Ò Bμ®£ 
C¸¨¦ 

A»SPÒ 

CÖv 
C¸¨¦ 

A»SPÒ

ÂØ£øÚ 
(A»SPÒ) 

X 14,000 15,000 1,50,000 

Y 5,000 14,000 1,00,000 

Z 8,000 15,000 70,000 

15.  (a) Calculate material variance 
Material Std price 

per kg 
Std mix for 

1200 units (kg) 
Actual 

usage (kg)
Actual price

per (kg) 

A 10 2 72 12 

B 1 4 10.8 1 

  (Actual output 1,00,000 units) 
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ‰»¨ö£õ¸Ò 
©õÖ£õmiøÚ PnUQkP. 

‰»¨ö£õ¸Ò {ø»¯õÚ 
Âø» 

(Q÷»õÂÀ) 

{ø»¯õÚ 
P»øÁ 
(1200 

A»SPÒ) 

Esø©¯õÚ 
E£÷¯õP®
(Q÷»õÂÀ) 

Esø©¯õÚ
Âø» 

(Q÷»õÂÀ)

A 10 2 72 12 

B 1 4 10.8 1 

  (Esø©¯õÚ öÁÎ±k 1,00,000 A»SPÒ) 

Or 

 (b) Calculate the Break even point from the following 
Particulars Rs. 

Fixed expenses 2,70,000

Variable cost per unit 75

Selling price per unit 100

  RÌPõq® ÂÁμ[PÎ¼¸¢x C»õ£ |mhªÀ»õ 
\©{ø» ¦ÒÎPøÍ PnUQkP. 

Â£μ® ¹. 
{ø»¯õÚ ö\»ÄPÒ 2,70,000
Jº A»QØPõÚ ©õÖ® ö\»ÄPÒ 75
Jº A»QØPõÚ ÂØ£øÚ Âø» 100

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Following are the comparative Balance Sheet of Abi and 
Co Ltd. 

Liabilities 2012 
Rs. 

 2013 
Rs. 

Assets 2012 
Rs. 

2013 
Rs. 

Share 
capital 

70,000  74,000 Cash 9,000 7,800

Debentures 12,000  6,000 Trade 
debtors

14,900 17,700
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Liabilities 2012 
Rs. 

 2013 
Rs. 

Assets 2012 
Rs. 

2013 
Rs. 

Trade 
creditors 

10,360  11,840 Stock 49,200 42,700

Provision 
for  
doubtful 
debts 

700  800 Good 
will 

10,000 5,000

    Land 20,000 30,000

P&L a/c 10,040  10,560  

 1,03,100  1,03,200  1,03,100 1,03,200

Additional information 

(a) Dividends were paid totalling Rs. 3,500 

 (b) Land was purchased for Rs. 10,000 and amount 
provided for amortization of goodwill totalled Rs. 
5,000 

 (c) Debenture loan was repaid Rs. 6,000  

  Prepare cash flow statement 

 A¤ P®ö£Û ¼ªöhmiß RÌÁ¸® öuõSUP¨£mh C¸¨¦ 
{ø» SÔ¨¦ öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ 2012 
¹. 

 2013 
¹. 

ö\õzxUPÒ 2012 
¹. 

2013 
¹. 

£[S •uÀ 70,000  74,000öμõUP® 9,000 7,800
PhÜmk  
£zvμ[PÒ 

12,000  6,000Â¯õ£õμ 
PhÚõÎPÒ

14,900 17,700

Â¯õ£õμ  
PhÜ¢÷uõº 

10,360  11,840\μUS 49,200 42,700

I¯UPhß 
JxUS 

700  800|Øö£¯º 10,000 5,000

  {»® 20,000 30,000
C»õ£&|mh 
P/S 

10,040  10,560 

 1,03,100  1,03,200 1,03,100 1,03,200
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TkuÀ uPÁÀPÒ 

(A) ¹. 3,500 £[Põuõ¯® ö\¾zu¨£mhx 

 (B) ¹. 10,000 US {»® Áõ[P¨£mhx. ÷©¾® 
¹.5,000US |Øö£¯º ÷u´©õÚ® JxUP¨£mhx. 

 (C) PhÜmk £zvμ Phß ¹. 6,000 v¸®£ 
ö\¾zu¨£mhx öμõUP |h©õmh AÔUøP u¯õ›UP. 

17. Calculate liquidity ratio from the following information 
comment on them 

 Balance sheet of Mrs. Aruna Ltd as on 31st March 2019. 
Liabilities Rs. Assets Rs.
Equites share  
capital 

6,00,000 Good will 1,00,000

7% debentures 3,50,000 Land and  
building 

2,30,000

Long term debts 2,00,000 Trade investements 3,00,000
Bank over draft 75,000 Plant and  

Machinery 
3,00,000

Sundry creditors 60,000 Sundry debtors 1,50,000
Bills payable 30,000 Bills receivable 40,000
Liabilities for tax 20,000 Cash in hand 50,000
  Cash at bank 60,000
  Stock 1,00,000
  Prepaid rent 5,000
 13,35,000  13,35,000

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x vμÁ 
\uÂuzvøÚ PnUQmk AuØPõÚ P¸zvøÚ PnUQkP.  
31.3.2019UPõÚ v¸. A¸nõ ¼ªöhm Gß£Á¸øh¯ 
C¸¨¦ {ø» SÔ¨¦  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 
\μõ\›¯õÚ £[S 
•uÀ 

6,00,000 |Øö£¯º 1,00,000

7% PhÜmk  
£zvμ[PÒ 

3,50,000 {»® ©ØÖ® 
Pmih® 

2,30,000

}sh Põ» 
PhßPÒ 

2,00,000 öuõÈØTh®  
©ØÖ®  
C¯¢vμ® 

3,00,000
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Á[Q 
÷©ÀÁøμ£ØÖ 

75,000 Â¯õ£õμ  
•u½kPÒ 

3,00,000

£Ø£» 
PhÜ¢÷uõº 

60,000 £Ø£»  
PhÚõÎPÒ 

1,50,000

ö\¾zxuØS›¯ 
©õØÖ^mk 

30,000 ö£ÖÁuØS›¯ 
©õØÖa^mk 

40,000

Á›«uõÚ 
ö£õÖ¨¦PÒ 

20,000 øP°¸¨¦ 
öμõUP® 

50,000

  Á[Q°¸¨¦ 
öμõUP® 

60,000

  C¸¨¦ 1,00,000
  •ß Tmi  

ö\¾zv¯  
ÁõhøP 

5,000

 13,35,000  13,35,000

18. Calculate funds from operation from the following 
particulars: 

 (a) Net profit for the year ended 31.3.2018 Rs. 6,50,000 

(b) Profit on sale of building Rs. 40,000 

 (c) Goodwill written off during the year Rs. 10,000 

 (d) Old machinery worth Rs. 8,000 has been sold for  
Rs. 6,500 

 (e) Depreciation has been provided on plant at 20% per 
year. The value of plant is Rs. 5,00,000 

 RÌPõq® Â£μ[PÎ¸¢x ö\¯À ÁÈ ‰»® ö£Ö® {v 
AÔUøP JßøÓ u¯õ›UP. 

(A) 31.3.2018 •iÄÖ® BskUS›¯ {Pμ C»õ£®  
¹. 6,50,000 

 (B) Pmih® ÂØÓvß «x C»õ£® ¹. 40,000 

 (C) C¢u Bsk ÷£õUöPÊv¯ |ß©v¨¦ ¹. 10,000 

 (D) ¹. 8,000 ©v¨¦ÒÍ £øÇ¯ C¯¢vμ® ¹. 6,500 US 
ÂØ£øÚ ö\´¯¨£mhx 

 (E) C¯¢vμ öuõSv «x BskUS 20% ÷u´©õÚ® 
HØ£kzu¨£mhx C¯¢vμ öuõSv°ß ©v¨¦  
¹. 5,00,000. 



F–8919 

  

  9

19. Production budget of 10,000 units are given below  
Expenses  Cost 

per  
unit Rs.

Material 70

Direct labour 25

Variable overhead 20

Fixed overhead 10

D.V.O.H 5

(15% fixed) selling exps 13

(20% of fixed) distrbiution exp’s 7

Administration exp’s (Rs. 50,000) 5

 155

 Prepare the flexible budget for the production of 8,000 
units. 

 10,000 A»SPÒ EØ£zv ö\´ÁuØPõÚ ÁμÄ ö\»Äz 
vmh® RÌPshÁõÖ EÒÍx. 

ö\»Ä ÂÁμ®  Kº 
A»QØPõÚ 
ö\»Ä (¹.)

‰»¨ö£õ¸mPÒ 70
÷|μi EøÇ¨¦ 25
©õÖ® ÷©Øö\»ÄPÒ 20
{ø»¯õÚ ÷©Øö\»ÄPÒ 10
÷|μi¯õP uõÝ® ö\»ÄPÒ 
D.V.O.H 

5

ÂØ£øÚ ö\»ÄPÒ (15% 
{ø»¯õÚx) 

13

ÁÇ[PÒ ö\»ÄPÒ (20% 
{ø»¯õÚx) 

7

{ºÁõP ö\»ÄPÒ (¹. 50,000) 5
 155

8,000 A»SPÒ EØ£zvUPõÚ ö|QÌa] ÁμÄ&ö\»Ä 
vmhzvøÚ u¯õ›UPÄ®. 
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20. From the following particulars, calculate 

 (a) Material cost variance 

 (b) Material price variance and 

 (c) Material usage variance 

 Standard  : Material for 70 kg of finished products 100 kg 

      : Price of materials Rs. 1 per kg 

 Actual : Output 2,10,000 kg  

   :  Materials used 2,80,000 kg 

   :  Cost at material Rs. 2,62,000  

 RÌPõq® ÂÁμ[PÎ¼¸¢x  

(A) AhUP ÷ÁÖ£õk 

 (B) Âø» ÷ÁÖ£õk ©ØÖ® 

 (C) £¯ß£õk ÷ÁÖ£õk BQ¯ÁØøÓ PnUQkP. 

 uμ® : 70Q÷»õ CÖv ö£õ¸Ò u¯õ›UP ÷uøÁ¯õÚ 
‰»¨ö£õ¸Ò & 100 Q÷»õ 

  : ‰»¨ö£õ¸Îß Âø» Q÷»õ JßÖUS ¹.1 

 Esø© : CÖv ö£õ¸Ò & 2,10,000 Q÷»õ 

   : ‰»¨ö£õ¸mPÒ £¯ß£kzv¯x & 2,80,000 
Q÷»õ 

   : ‰»¨ö£õ¸ÒPÎß AhUPÂø» ¹.2,62,000 

 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Adult. 

 Á¯xÁ¢÷uõº ÁøμÂ»UPn® u¸P. 

2. What is Wages? 

 T¼ GßÓõÀ GßÚ? 

3. What is trade union? 

 öuõÈØ\[P® Gß£x ¯õx? 

4. What is the main purpose of the minimum wages Act, 
1948? 

SøÓ¢u £m\ Fv¯ \mh® 1948 ß •UQ¯ £¯ß ¯õx? 

5. Define dispute. 

 \ºaø\ Áøμ¯ÖUP. 

6. What is Lock out? 

 §mkuÀ GßÓõÀ GßÚ? 

7. What is accident? 

 Â£zx GßÓõÀ GßÚ? 

Sub. Code 
7BCO6C3 
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8. What is partial disablement? 

 £Sv¯ÍÄ ö\¯¼Ç¨¦ GßÓõÀ GßÚ? 

9. What is Provident Fund? 

 ÷\©ø» {v GßÓõÀ GßÚ? 

10. What is Benefit of insurance? 

 Põ¨¥mk £¯ß ¯õx? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the various welfare facilities imposed by 
Factory Act 1948. 

   1948, öuõÈØ\õø» \mh£i ÂvUP¨£mkÒÍ 
£À÷ÁÖ |»ß¦› Á\vPøÍ ÂÁ›. 

Or 

 (b) Write the main provisions of law relating to working 
hours of adults. 

   ö£›¯ÁºPÎß ÷Áø» ÷|μ® SÔzx •UQ¯ \mh 
ÂvPøÍ GÊxP. 

12. (a) What are the procedure for registration of trade 
unions? 

   öuõÈØ \[P[PÎß £vÂØPõÚ •øÓø©PÒ ¯õx? 

Or 

 (b) Discuss the different kinds of wages.  

   T¼°ß £À÷ÁÖ ÁøPPøÍ ÂÁõv. 

13. (a) List out the various authorities under the Industrial 
Disputes Act 1947. 

   1947 öuõÈØ\õø» \ºaø\UPõÚ \mhzvß £i¯õÚ 
£À÷ÁÖ AvPõ›PøÍ £mi¯¼kP. 

Or 

 (b) Write a short notes on strikes. 

   ÷Áø»{Özu® SÔzx ]Ö SÔ¨¦ GÊxP. 
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14. (a) What are the nature of the workmen’s compensation 
Act, 1923? 

   1923, öuõÈØ\õø» CÇ¨¥k \mhzvß C¯À¦PÒ 
¯õøÁ? 

Or 

 (b) How to calculate Amount of compensation for 
temporary disablement? 

   uØPõ¼P ö\¯¼Ç¨¤ß ÷£õx, CÇ¨¥k öuõøP 
GÆÁõÖ PnUQh¨£kQÓx? 

15. (a) Explain the merits of Provident Fund Scheme. 

   öuõÈ»õÍº ÷\© |» vmhzvß |ßø©PøÍ ÂÁ›. 

Or 

 (b) Write the nature of the Employee’s State Insurance 
Act, 1948. 

   öuõÈ»õÍºUPõÚ ©õ{» Põ¨¥mk \mh® 1948 ß 
C¯À¦PøÍ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the Provisions of Employment of women as per 
the Factories Act 1948. 

1948, öuõÈØ\õø» \mhzvß£i ö£s öuõÈ»õÍºPõÚ 
÷Áø» SÔzu \mh ÂvPøÍ ÂÁõv. 

17. State the rights and liabilities of trade unions. 

 öuõÈØ \[P[PÎß E›ø©PÒ ©ØÖ® ö£õÖ¨¦PøÍ 
ÂÁ›. 

18. Write the lock outs procedure under Industrial Disputes 
Act, 1947. 

1947 öuõÈØ\õø» \ºaø\PÐUPõÚ \mhzvß£i 
öuõÈØ\õø» ‰ku¾UPõÚ •øÓø©PøÍ GÊxP. 
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19. Explain the rules regarding workmen’s compensation. 

 öuõÈ»õÍº CÇ¨¥k SÔzu ÂvPøÍ ÂÁ›. 

20. What are the Provisions regarding contribution to the 
Provident Fund.  

öuõÈ»õÍº ÷\© |» {v°ß £[PÎ¨¦ SÔzx \mh 
ÂvPÒ ¯õøÁ? 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by Gross Total Income? 
 ö©õzu Á¸©õÚ® GßÓõÀ GßÚ? 

2. Name any four items that qualities for deducation  
U/S 80 C.   

 ¤›Ä 80 C&°ß RÌ Â»US ö£Ó uSv²ÒÍ G¢u |õßS 
ö£¯ºPøÍ SÔ¨¤kP. 

3. What do you mean by joint family property? 
 TmkU Sk®£ ö\õzx GßÖ }[PÒ GßÚ ö\õÀQÕºPÒ? 

4. Give the meaning of Senior Citizen. 
 ‰zu Si©Pß Gß£uß ö£õ¸Ò u¸P. 

5. What is assessment? 
 ©v¨¥k GßÓõÀ GßÚ? 

6. What is PAN? 

 PAN GßÓõÀ GßÚ? 

7. Who is a Tax Inspectors? 
 Á› B´ÁõÍº ¯õº? 

Sub. Code 
7BCOE2A 
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8. What do you mean by Tribunal? 
 wº¨£õ¯® GßÓõÀ GßÚ? 

9. Give the meaning of TDS. 

 TDS Gß£uß ö£õ¸øÍ öPõk[PÒ. 

10. What is refund of Tax? 
 Á› v¸¨¤a ö\¾zxuÀ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The income of a disable individual for Mr. Suraj 
Assessment Year 2022-23 consists of the following: 

  Rs. 

(i) Income from business 1,01,000

(ii) Share of profit from HUF 25,000

(iii) 1/5 share from firm 21,000

(iv) Bank interest 10,000

(v) Income from Lottery 1,40,000

  Find out his tax liability for the AY 2022-23. 

   v¸. `μä ©v¨¥k Bsk 2022-23UPõÚ |£›ß 
Á¸©õÚ® ¤ßÁ¸ÁÚÁØøÓU öPõskÒÍx. 

  ¹. 

(i) Â¯õ£õμzvÀ C¸¢x Á¸©õÚ® 1,01,000

(ii) C»õ£zvß £[S HUF 25,000

(iii) 1/5 {ÖÁÚzvß £[S 21,000

(iv) Á[QÁmi 10,000

(v) C»õmh› ‰»® Á¸©õÚ® 1,40,000

   ©v¨¥mk Bsk 2022-23UPõÚ AÁμx Á›¨ 
ö£õÖ¨ø£ PshÔ¯Ä®. 

Or 
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 (b) List the losses which can be carried forward and 
losses which cannot be carried forward. 

   •ß÷ÚõUQ Gkzxaö\À»UTi¯ CÇ¨¦PÒ ©ØÖ® 
•ß÷ÚõUQa ö\À» •i¯õu CÇ¨¦PøÍ 
£mi¯¼kP[PÒ. 

12. (a) How do you ascertain the tax liability of an HUF 
assessee? 

   HUF ©v¨¥mhõÍ›ß Á›¨ ö£õÖ¨ø£ }[PÒ 
GÆÁõÖ PshÔÁx? 

Or 

 (b) Compute tax liability of Mr. Sundar in the following 
cases:   

  (i) Taxable Total Income of an individual is  
Rs. 1,50,000. 

  (ii) Taxable Total Income of an individual is  
Rs. 18,50,000. 

  (iii) Taxable Total Income of an individual is  
Rs. 1,30,00,000. 

   ¤ßÁ¸® \¢uº¨£[PÎÀ v¸. _¢u›ß ö£õÖ¨ø£U 
PnUQk[PÒ. 

  (i) J¸ uÛ|£›ß Á›US Em£mh ö©õzu 
Á¸©õÚ® ¹. 1,50,000. 

  (ii) J¸ uÛ|£›ß Á›US Em£mh ö©õzu 
Á¸©õÚ® ¹. 18,50,000. 

   (iii) J¸ uÛ|£›ß Á›US Em£mh ö©õzu 
Á¸©õÚ® ¹. 1,30,00,000. 

13. (a) What are the Powers of CBDT? 

   CBDT°ß AvPõμ[PÒ ¯õøÁ? 

Or 

 (b) Write a short note on Commissioner of Income Tax. 
   Á¸©õÚ Á› Bøn¯º «x J¸ ]Ö SÔ¨ø£ GÊxP. 
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14. (a) State the provisions in the context of self-
assessment. 

   _¯©v¨¥miß `Ç¼À HØ£õkPøÍa ö\õÀ»Ä®. 

Or 

 (b) List out the Best judgement assessment. 

   ]Ó¢u wº¨¦ ©v¨¥møh £mi¯¼kP. 

15. (a) Explain the Do’s and Dont’s for filing TDS returns. 

   TDS Á¸©õÚzøu uõUPÀ ö\´ÁuØS ö\´Áøu²® 
ö\´¯õuøu²® ÂÍUSP. 

Or 

 (b) State the Income tax returns forms. 

   Á¸©õÚ Á› PnUS £iÁzøu SÔ¨¤hÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. During the Previous Year 2021-22 kumar has the 
following income and expenditure. 

  Rs. 

(a) Business profit 1,50,000

(b) Winning from Lotteries 55,000

(c) Long term capital gain 40,000

(d) Donation to PM National Relief fund 10,000

(e) Donation to temple approved for the 

 purpose of section 80G 25,000

(f) Donation Clean Ganga fund 5,000

 Compute his income for the Assessment Year 2022-23. 
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 •¢øu¯ BsiÀ 2021-22 S©õº ¤ßÁ¸® Á¸©õÚ® 
©ØÖ® ö\»ÄPøÍU öPõsi¸¢uõº. 

  ¹. 

(A) ÁoP C»õ£® 1,50,000

(B) C»õmh› ‰»® öÁØÔ 55,000

(C) ¤μu©›ß ÷u]¯ {Áõμn {v 40,000

(D) }sh Põ» ‰»uÚ Buõ¯® 10,000

(E) ¤›Ä 80G Cß ÷PõÂ¾US |ßöPõøh 25,000

(F) P[øPø¯ _zu® ö\´¯ |ßöPõøh 5,000

 ©v¨¥mk Bsk 2022-23 C¼¸¢x AÁμx Á¸©õÚzøu 
PnUQkP. 

17. Mrs. Laxmi aged 63 years submits the following 
information. 

 Rs.  Rs. 

Taxable Salary 12,00,000 Deposit in PPF 60,000

Interest on bank deposits 20,000 LIC premium 1,20,000

Long term capital gain 40,800  

Taxable HP income 1,80,000  

 Compute the tax liability of Mrs. Laxmi. 

 v¸©v. C»èª Á¯x 63 AÁº ¤ßÁ¸® uPÁÀPøÍ 
\©º¨¤UQÓõº. 

 ¹.  ¹. 

Á›US Em£mh \®£Í® 12,00,000 Á¸©õÚ øÁ¨¦ PPF 60,000

Á[Q øÁ¨¦ «uõÚ Ámi 20,000 LIC ¤Ÿª¯® 1,20,000

}sh Põ» ‰»uÚ Buõ¯® 40,800  

Á› ÂvUP¨£k® HP Á¸©õÚ® 1,80,000  

 v¸©v C»èª°ß Á›ö£õÖ¨ø£ PnUQkP. 
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18. Explain the Powers of Income Tax Officer. 

 Á¸©õÚ Á› AvPõ›°ß AvPõμ[PøÍ ÂÍUS. 

19. Explain the various types of assessement. 

 £À÷ÁÖ ÁøP¯õÚ ©v¨¥kPøÍ ÂÍUSP. 

20. Discuss the types and rates of TDS.  

 TDS ÁøPPÒ ©ØÖ® ÂQu[PøÍ¨ £ØÔ ÂÁõvUPÄ®. 

 

 

 
———————— 
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 Section A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Computer  

PoÛ Áøμ¯Ö. 

2. What is meant by memory unit? 

{øÚÁP® GßÓõÀ GßÚ? 

3. What is Languages? 

ö©õÈPÒ GßÓõÀ GßÚ? 

4. What is meant by Application Software? 

£¯ß£õmk ö©ßö£õ¸Ò GßÓõÀ GßÚ? 

5. What are the usage of operating system? 

C¯UP •øÓø©°ß £¯ßPÒ GßÚ? 

6. Define UNIX. 

 UNIX Áøμ¯Ö. 

Sub. Code 
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7. What is C programmes? 

C–vmh[PÒ GßÓõÀ GßÚ? 

8. Define Variables. 

©õÔPÒ Áøμ¯Ö. 

9. What is Building Network? 

Pmih Áø»÷Áø» GßÓõÀ GßÚ? 

10. What is LAN? 

LAN GßÓõÀ GßÚ? 

 Section B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Describe about the hardware of Computer. 

   PoÛ°ß Áßö£õ¸Ò SÔzx ÂÍUSP. 

Or 

 (b) What are the output devices of Computers? 

   PoÛ°ß öÁÎ±mk £SvPÒ ¯õøÁ? 

12. (a) What are the components of System Software? 

   PoÛ ö©ßö£õ¸Îß £õP[PøÍ ÂÍUSP. 

Or 

 (b) Explain Flowcharts.  

   Jmh ÂÍUP¨£h® £ØÔ ÂÁ›. 

13. (a) Describe the preparation of Windows operating 
system. 

   áßÚÀ C¯UP •øÓø©°øÚ u¯õ›¨£x £ØÔ 
ÂÁ›. 

Or 
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 (b) Explain DOS. 

   DOS £ØÔ ÂÍUSP. 

14. (a) Explain Character Set. 

   GÊzx öuõS¨¦ £ØÔ ÂÍUSP. 

Or 

 (b) Explain C Programmes. 

   C vmh[PøÍ £ØÔ ÂÁ›. 

15. (a) Mention briefly about the E-commerce. 

   C.Põ©ºì £ØÔ ÂÍUP©õP ÂÁ›. 

Or 

 (b) Explain MAN. 

  MAN £ØÔ ÂÍUSP. 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the function of CPU of Computer. 

PoÛ ø©¯ ö\¯À£õmk A»S A»Qß £oPøÍU TÖP. 

17. Explain the structure of Computer Programme. 

PoÛ {μ¼ß Aø©¨ø£ £ØÔ ÂÁ›. 

18. Explain the classification of operating system. 

C¯US •øÓ°ß ÁøP£õmiøÚ ÂÍUSP. 

19. Explain the Data Types. 

÷uv ÁøPPøÍ £ØÔ ÂÁ›. 

20. What are the advantages of LAN?  

LAN –ß |ßø©PÒ ¯õx? 

 
———————— 
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 Section A  (10 × 2 = 20) 

Answer all questions. 

1. What is ‘Audit’? 

 uoUøP GßÓõÀ GßÚ? 

2. What is ‘Balance Sheet Audit’? 

 C¸¨¦ {ø» uoUøP GßÓõÀ GßÚ? 

3. What is ‘Internal Check’? 

 AP^μø©Ä GßÓõÀ GßÚ? 

4. What is Audit Programme? 

 uoUøPa ö\¯À vmh® GßÓõÀ GßÚ? 

5. What is meant by Vouching? 

 \õßÓõ´Ä GßÓõÀ GßÚ? 

6. What are Vouchers? 

 Buõμa ^mk GßÓõÀ GßÚ? 

7. What is meant by Valuation of Assets? 

 ö\õzvß ©v¨¥k GßÓõÀ GßÚ? 

Sub. Code 
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8. Define ‘Audit Report’? 

 uoUøP AÔUøP C»UPnzøu TÖ. 

9. State the liabilities of an auditor? 

 J¸ uoUøP¯õÍ›ß ö£õÖ¨¦PøÍU SÔ¨¤hÄ®. 

10. What do you mean by negligence? 

 PÁÚUSøÓÄ GßÖ }[PÒ Gøua ö\õÀQÕºPÒ? 

 Section B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the qualities of an auditor. 

   uoUøP¯õÍ›ß uSvPøÍ ÂÍUSP. 

Or 

 (b) What are the types of investigations? 

   ¦»Úõ´Âß ÁøPPÒ ¯õøÁ? 

12. (a) Explain the objectives of audit programme. 

   uoUøP {PÌa] {μ¼ß SÔU÷PõÒPøÍ ÂÍUS. 

Or 

 (b) Explain the characteristics of internal control.  

   APU Pmk¨£õmiß ]Ó¨¤¯ÀPøÍ ÂÍUSP. 

13. (a) Explain the importance of ‘Vouching’. 

   Buõμa ^mk uoUøP°ß •UQ¯zxÁzøu ÂÍUS. 

Or 

 (b) Put out the various trading transactions. 

   £»ÁøP ÁoP |hÁiUøPPøÍ u¸P. 
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14. (a) List out the different types of assets. 

   £À÷ÁÖ ÁøP ö\õzxUPøÍ £mi¯¼kP. 

Or 

 (b) State the system of verification of secured loans. 

   Ah©õÚU PhßPøÍ B´Ä ö\´²® •øÓ°øÚU 
SÔ¨¤kP. 

15. (a) What are the liabilities of an auditor to third 
parties? 

   ‰ßÓõ® |£¸UPõÚ uoUøP¯›ß £À÷ÁÖ 
ö£õÖ¨¦PÒ ¯õøÁ? 

Or 

 (b) Discuss briefly the liabilities of a company auditor. 

   J¸ {ÖÁÚ uoUøP¯õÍ›ß ö£õÖ¨¦PÒ £ØÔ 
_¸UP©õP ÂÁõvUPÄ®. 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the differences between continuous audit and 
periodical audit. 

öuõhº uoUøPUS® Bsk uoUøPUS® EÒÍ 
÷ÁÖ£õmiß ÂÍUSP. 

17. Distinguish between Internal check and Internal audit. 

 EÒ \›£õº¨¦ ©ØÖ® EÒ uoUøP BQ¯ÁØøÓ 
÷ÁÖ£kzxP. 

18. Explain the vouching of cash transactions. 

 öμõUP |hÁiUøPPÎß \õßÓõ´ÄPøÍ ÂÍUSP. 
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19. Explain verification and valuation of asses and liabilities. 

 ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÎß \›£õº¨¦ ©ØÖ® 
©v¨¥møh ÂÍUPÄ®. 

20. Discuss the legal status of company auditor.  

 {Ö© uoUøP¯õÍ›ß \mh•øÓ {ø» SÔzx ÂÁõvUP. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is Entrepreneurship? 

 öuõÈÀ •øÚÄ GßÓõÀ GßÚ?  

2. Write a note on innovating entrepreneur.  

 ¦xø©¯õÚ öuõÈÀ•øÚ÷Áõøμ¨ £ØÔ¯ SÔ¨¦PøÍ 
GÊxP. 

3. What is municipal license? 

 |Pμõm] E›©® GßÓõÀ GßÚ? 

4. What do you mean by export promotion? 

 HØÖ©v ÷©®£õk GßÓõÀ GßÚ? 

5. State any two functions of SIDBI. 

 SIDBICß G¢u Cμsk ö\¯À£õkPøÍ²® TÖP. 

6. Define commercial banks. 

 ÁoP Á[Qø¯ Áøμ¯ÖUPÄ®. 

7. What is project formulation? 

 vmh E¸ÁõUP® GßÓõÀ GßÚ? 

Sub. Code 
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8. Define the concept of project report.  

 vmh AÔUøP°ß P¸zøu Áøμ¯ÖUPÄ®. 

9. What is meant by women entrepreneurship? 

 ö£sPÒ öuõÈÀ •øÚ÷Áõº GßÓõÀ GßÚ? 

10. Write the problems of women entrepreneurs. 

 ö£sPÒ öuõÈÀ •øÚ÷Áõ›ß ¤μa]øÚPøÍ 
GÊx[PÒ. 

 Part B (5 × 5 = 25) 

Answer all the questions. 

11. (a) What are the importance of Entrepreneur? 

   öuõÈÀ •øÚ÷Áõ›ß •UQ¯zxÁ® ]»ÁØøÓU 
TÖP. 

Or 

 (b) Explain the factors influencing the 
entrepreneurship. 

   öuõÈÀ •øÚøÁ £õvUS® PõμoPøÍ ÂÁ›. 

12. (a) Enumerate the forms of plant location.  

   uõÁμ C¸¨¤hzvß ÁiÁ[PøÍ PnUQk[PÒ. 

Or 

 (b) What are the different forms of ownership?  

   E›ø©°ß öÁÆ÷ÁÖ ÁiÁ[PÒ ¯õøÁ? 

13. (a) Explain the functions of DICs. 

   ©õÁmh öuõÈÀ ø©¯zvß £oPøÍ ÂÁ›. 

Or 

 (b) Explain importance of small scale industries.  

   ]ÖöuõÈ¼ß •UQ¯zxÁzøu ÂÁ›. 
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14. (a) Explain the characteristics of project.  
   öuõÈÀ vmhzvß ]Ó¨¤¯À¦PøÍ ÂÁ›. 

Or 

 (b) What do you mean by financial appraisal? Explain 
its contents.  

    {v ©v¨¥k Gß£vß Aºzu® SÔzx }Âº AÔÁx 
¯õx? ©ØÖ® Auß EÒÍhUP ÂÁμ[PøÍ ÂÁ›. 

15. (a) Write about the sickness in small scale industries.  
   ]ÖöuõÈÀPÎß |¼Ä SÔzx ÂÁ›zx GÊxP. 

Or 

 (b) What problems are faced by women entrepreneur? 
   ©PÎº öuõÈÀ •øÚ÷Áõº \¢vUS® ¤μa\øÚPøÍ 

ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Distinguish between entrepreneur and intrepreneur.  

 öuõÈÀ •øÚ÷Áõº ©ØÖ® Em¦ÓöuõÈÀ •øÚ÷Áõº 
÷ÁÖ£kzxP. 

17. Location of the enterprise is a critical decision – Discuss.  

 {ÖÁÚzvß C¸¨¤h® J¸ •UQ¯©õÚ & ÂÁõv. 

18. Discuss the main functions of SIDBI.  

 SIDBICß •UQ¯ ö\¯À£õkPøÍ¨ £ØÔ ÂÁõv. 

19. Explain the various contents of project report.  

 vmh AÔUøP°ß £À÷ÁÖ EÒÍhUP[PøÍ ÂÍUSP. 

20. Describe briefly the role played by women entrepreneurs 
in the economic development of India. 

C¢v¯õÂß ö£õ¸Íõuõμ ÷©®£õmiÀ ©PÎº öuõÈÀ 
•øÚ÷Áõ›ß £[QøÚ ÂÁ›. 

 
———————— 


